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5@—5
& B (m) & H (ke) i B Cm) & &5 (w

X 43

2 E3 110.3 459 19.0 3.42 56.1 291 62.4 278
4 W E 110.7 465 19.2 3.10 56.7 3.21 62.2 276
# b3 1104 463 19,2 2.50 56.4 31 62.2 2,83
H F 1106 467 19.2 2,51 56.5 3.01 62.4 2.74
= b4 110.6 438 19.1 252 56.3 3.22 62.9 2.72
Bk H 11.0 5.70 19.5 4.61 56.5 3.26 62.6 2.80
] A 1M1.2 457 19.4 4.34 56.4 276 62.7 2.59
L] =23 110.7 4.43 19.1 2.53 56.1 312 62.6 2.62
B3 % 1106 4.56 19.2 2.74 56.6 3.29 61.9 3.32
b N 110.2 4.80 19.0 242 56.1 2.99 62.2 2.76
B ) 1105 442 18.9 2.44 56.3 294 62.6 2.66
o3 ES 110.5 467 18.1 2.49 56.5 3.00 62.4 2.85
T o 1105 4,58 19.3 6.68 56.3 2.95 62.6 2.79
bl wn 110.6 4,66 19.1 257 56.3 3.15 63.0 2.81
i # N 1103 463 19.2 4.48 56.2 2.58 62.0 2.64
#; =) 1108 476 19.1 2.53 56.2 2.95 62.5 2.91
- in 110.3 4.60 19.0 2.56 56.4 2.80 62.5 2,79
& " 110.6 434 18.3 2.06 56.2 284 62.3 291
& I 110.3 431 188 217 55.7 257 62.6 2.61
1 el 110.1 460 19.1 432 56.4 311 62.1 2.80
B L2 110.4 4.46 18,8 224 56.0 2.66 62.5 2.56
53 B 100.9 4.59 18.8 3.89 5§6.7 2.46 62.3 2.65
i if} 100.9 4.49 18.8 2.24 6.1 266 62.3 2.67
b4 il 110.3 4,46 189 2.67 56.2 2.88 62.9 2.57
= & 109.5 4.60 187 2.30 55.6 2.54 61.8 2.70
41 # 110.0 4,50 18.6 2.33 65.6 2.80 62,5 2.71
i) [ 1105 461 18.8 2,65 56.0 2.70 62.6 2,76
x i 110.3 448 19.1 4.47 56.0 2.79 62.4 2.60
2o & 1101 463 188 2.59 56.1 284 62.6 2.60
=3 B 110.2 471 18.8 2.13 56.7 2.54 62.2 282
f % b 1105 4,76 19,1 2.92 56.2 3.12 62.5 2.86
=1 i1 109.8 419 186 2.34 65.9 3.08 62.3 2.72
B iz 109.4 4.24 18.5 2.20 55.7 2.84 62.3 2.54
g i 109.6 464 186 2.38 56.7 291 62.2 2.88
TN B 110.4 4.42 189 2.28 56.2 2.91 62.0 2.82
ih n| 109.4 4.28 185 211 55.6 2.59 62.0 2.71
i =3 110.0 437 18.9 2,53 56.5 2.78 62.5 2.72
& n 110.1 451 189 2.40 56.9 3.12 62.0 2.99
4 % 109.9 459 18.7 2.35 55.8 2.77 62.1 2.79
= Eil 109.9 4.55 18.9 2.34 56.2 2.85 62.1 2.83
=1 fid] 110.1 460 18.9 4.20 55.9 2.76 62.3 2.66
# H 110.1 458 18.8 2.26 56.4 2.99 62.3 2.84
£ i 109.7 455 186 2.16 55.6 2.48 62.1 2.81
#& * 110.1 425 18.9 4.36 55.7 2.84 62.5 2.56
X 7 1100 4.45 188 247 56.2 2.91 62.1 3.17
g i 100.7 436 186 2.26 56.7 2,68 62.1 2.58
E B B 109.7 457 18.8 4.26 55.8 3.04 62.4 2.67
e a8 108.6 481 186 2.80 56.4 321 61.5 3.02
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109.4 477 185 265 54.8 296 61.8 2.77 2 =)
100.8 4.54 18.7 4.00 56.2 2.97 618 2.80 I & @
109.8 4.39 18.0 2.41 55.3 316 61.8 276 # ol
109.8 4.41 18.7 242 55.1 296 61.8 2.49 =] F
110.2 4.66 18.8 2,58 5.1 3.00 62.7 264 g b4
100.7 4.86 18.7 2.51 54.9 3.06 62.0 2,69 B FH
110.1 477 187 252 56.3 290 62,1 264 1L i3
109.4 4.46 185 2.66 54.8 317 62.0 2.86 B =1
109.7 4.68 18.8 3.27 56.4 3.66 61.6 3.37 * b4
109.4 47 18.8 4.23 56.1 355 61.8 2.66 5 XK
100.4 4.68 186 2.75 56.2 345 62.0 279 B B
109.6 4.31 18.7 2.38 56.2 2.88 61.9 254 =] E
109.4 443 185 2.31 5.1 2.82 61.9 248 + by
110.0 4.38 189 253 55.2 3.27 62.3 2.71 ® =
109.2 482 185 2.37 54.8 2.80 61.4 2.65 moox= N
100.7 452 18.7 2.50 55.0 2.85 62.0 2.78 iy ]
109.6 4.42 18.5 2.15 55,1 263 61.9 261 = il
100.9 4.47 18.6 276 54.9 315 61.7 3.04 4 i
109.8 4,59 18.6 464 54,6 3.07 62.1 274 18 H
108.0 4.65 186 2.83 55.1 3.06 61.5 2.73 1] 4
109.4 4.44 184 2.25 549 270 61.9 2.65 B 5
100.2 a7 186 403 54.5 2.83 61.0 4.78 3 B
108.9 462 18.4 2.90 54.9 314 61.5 2.70 g ]
109.5 4.53 18.4 2.36 55.0 3.00 62.1 258 ® gl
108.9 4.60 18.3 2.33 54.3 275 61.5 2.56 = &
109.1 4.75 18.3 2,51 54,6 3.01 62.0 2.50 B H
109.8 4.26 184 2.22 54.8 2.7 62.2 251 = o
109.8 6.51 184 241 546 2,65 618 259 X 173
100.2 4,59 183 243 54.7 3.05 621 2.62 £ 1254
109.5 4.52 187 3.05 54.4 3.04 618 2.60 ® B
100.3 4.40 184 2.23 54.8 2,93 61.8 273 m & W
109.5 4,81 18.4 2.32 54,7 302 62.0 262 B B
108.8 4.53 18.2 2.09 54.3 242 61.9 2,61 B "
108.7 453 18.2 2.35 54,7 2.96 61.7 3.03 ] 1]
109.2 4.47 183 2.22 54.6 2.66 61.4 2.80 I’n B
109.1 4.04 18.2 214 54.4 2,66 61.6 244 th ]
100.1 4.40 186 252 54.3 2.96 62.1 268 & B
109.3 4.55 185 2.53 54.8 3.46 616 2.79 & n
108.9 4,59 18.3 256 54.4 263 615 262 b4 %
109.0 431 184 2.32 56.0 314 61.7 2.83 k-3 &
109.4 4,54 18.4 229 54.5 274 61.6 2,69 ot [55]
109.4 4.48 18.5 2.23 55.0 2.83 61.7 2.80 & "
100.2 432 18.3 222 4.4 2.84 61.6 281 & L}
100.5 4.40 18.6 392 54.4 27 62,0 2.56 & *
109.4 4.50 183 2.49 54.7 293 619 312 X 5
109.1 4.58 18.3 226 54.4 293 61.8 259 ® i
108.8 4.40 18,2 222 54.4 2.88 61.7 2,61 BE KB B
108.1 4.30 18.1 2.28 56.1 3.18 61.1 3.03 f ]
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6F—5 6 E—%
-4 £ (mw * H () i B (m) B & (o) 5 £ (@ % & (ke) i M (ew 23 RG]
X 5 % P
Vo i | BERE | OB @ | BEeEs | T Oy M | BeRs | T oy B EmegEs oy | EERE | FE B | MEeEs | P Y i | B | oy M| EgERE
2 = 115.8 4.79 20.8 3.22 57.5 3.28 64.9 2.76 114.9 4.83 20.3 3.23 56.0 3.17 64.4 272 %
&t & & 116.1 478 21.2 3.12 57.6 3.23 64.8 2.58 115.4 5.11 20.6 2.94 56.2 3.29 64.3 2.78 I & E
B %ﬁ 116.2 4.81 21.0 2.82 57.9 3.42 64.9 2.76 115.3 4.89 20.8 3.29 56.7 3,59 64.5 283 # o
= * 116.0 4.64 211 3,27 8.1 3.65 64.9 2,67 115.2 477 20.6 2,79 6.6 3.24 64.4 249 & F
= b 116.1 4.59 21.0 2.92 57.8 3.25 65.1 275 116.6 4.82 21.0 2,98 57.0 3.32 64.8 2.76 =4 b
% M 115.9 4.70 20.9 3.02 57.8 3.46 64.7 2.88 115.5 477 20.7 3.08 56.6 330 - 64,6 266 B FH
th iz 116.4 4.84 21.1 3.25 57.7 3.75 665.1 2.74 115.5 474 20.7 3.20 56.4 3.50 64.8 2,68 W i
B B 115.9 4.83 20.9 3.44 57.8 3.39 64.7 3.05 114.5 4,38 20.1 2,63 86.1 317 64.0 2,57 b B
/3 R 15,7 4.66 20.8 2.99 57.5 3.43 64.8 2.86 115.2 4.74 20.7 3.05 56,5 3.41 64.5 2,65 A b
5 PN 115.4 5.10 20,9 3.34 57.6 371 64.6 2.96 115.2 5,22 20.5 3.07 56.3 3.38 64.2 2.67 % *
B )3 115.8 4.85 20.9 3.10 57.7 3.31 64.9 2.80 115.3 4.88 20.5 3.20 56.4 3.50 64.5 2.52 B 5
i x 115.8 4.69 21.0 3.14 57.7 3.46 65.0 2,56 1153 5.06 20,5 3.05 56.2 3.25 64.5 2.78 H £
T E 115.7 472 20.8 3.05 57.6 3.36 64.7 2.85 115.6 4.95 20.7 5.46 56.1 3.11 64.5 288 F =
B = 116.5 4.87 21.4 3.54 57.9 3.81 65.1 2.76 115.4 5.03 20.4 3.08 55.9 3.15 64.5 264 ® =
moo& 116.2 4.80 21.0 3.29 57.5 3.58 65.0 2.95 115.1 4,67 20.5 2.99 56.0 3.42 64,4 2,63 & N
# B 116.2 4.82 21,0 2.93 57.9 3.28 66.1 2.63 11565 482 20.5 2.77 56.3 358 64.6 2.82 ¥ =
g 1 116.2 4.88 21.3 6.50 57.8 3.37 65.2 2.81 115.1 4.62 20.4 2.64 56.1 3.16 64.8 2.89 B i
& i1 116.1 4.65 20.9 2.83 57.7 2.95 64.8 2.70 115.3 4.45 20.3 2.84 56.3 3.24 645 2.64 A "
B H# 115.8 4.44 20.8 3.14 57.6 3.03 65.1 2.55 115.0 4.78 20,2 2,77 56.1 331 64,5 2.81 b ##
i ol 115.7 4.83 21.0 3.07 57.6 3.34 64.6 2.68 114.9 4.71 20.3 2.77 56.1 3. 64.2 2,53 W £l
B 53 116.1 4.70 20.9 2.78 67.6 3.01 66.1 2,66 115.2 4.92 20.4 3.04 56.3 3.42 64.5 2,65 E 57
I B 115.6 4.84 20.6 2.84 57.4 3.04 64.7 2.60 114.7 4,59 20.1 3.20 £6.1 2,97 64.2 266 73 B
3 ] 1156 438 20.7 2.58 57.5 3.14 64.8 2.68 114.3 488 20.1 3.11 56.2 3.48 64.1 274 3 ]
B Pl 115.5 491 20.6 2.97 56.9 3.21 64.8 2.68 114.6 469 20.1 2.76 56.6 314 64.3 2.59 5 &
= & 1155 473 20,9 3.55 57.4 3.37 66.0 262 114.2 474 19.9 2.73 56.8 2.89 64,1 2,57 = &
% " . 116.1 4,99 20.9 3.25 57.5 3.02 64.8 2.72 ; 115.1 4.47 20.4 2,56 56.2 2.89 64.3 2.85 B 5
34 F: 116.2 4.70 20.9 2.76 57.7 3.22 65.2 2.87 114.9 475 20.2 2.74 56.1 3.09 64.4 275 = 0
X 153 116.0 4,52 20.9 2.79 57.4 3.26 65.0 2,64 115.1 4.83 20.2 2,63 56.7 2,90 64.5 2.64 X B
f B 116.0 4,66 20.8 5.20 57.5 2.66 65.0 2.84 115.0 462 20.3 5,63 6.0 2.94 64.6 2.73 T 4
= B 116.0 5,00 209 3.44 §7.5 2,94 64.9 2,78 115.0 4,57 19.9 2.34 55.8 284 64.4 261 &= B
m & L 115.6 4,78 20.6 2.65 57.2 260 64.8 263 115,1 4.88 20.3 3.19 55,9 3.41 64.6 265 fl & b
& -1 115.4 4.66 205 2.66 57.3 2.79 65.0 2.45 114.7 497 20.2 2.89 £6.1 3.03 64.4 265 B ;1
= bicd 114.8 4.69 20.4 2.57 57.2 3.01 647 2.74 114.5 478 20.2 2,95 56,1 3.32 64.4 2.76 B A8
i} 1] 115.4 4.84 205 2.91 §7.3 297 64.7 2.68 114.6 5.00 19.9 2.52 55.9 2.88 64.3 2.80 [} il
K B 116.2 5.10 20.6 2.86 57.4 3.11 64.7 2.90 114.1 4.77 19.9 2,62 55.8 2.87 64,2 2.70 s =1
th ] 116.1 479 205 2.77 57.3 3.03 64.6 2.88 114.4 4.45 20.0 2.58 56,7 2.89 64.1 266 i o
i B 118.7 4.74 208 3.02 57.3 3.27 64.4 279 115.0 4,60 20.6 3.14 56.2 3,49 64.3 268 i 5
& n 115.4 491 20.6 2.88 57.5 3.04 64.6 277 114.4 5.10 20.1 3.01 56.1 3.30 64.2 281 & ]
4 i 115.1 4,94 20,3 2.57 57.2 2.83 64.5 2.85 114.7 4.97 20.2 2.65 55.9 2.95 64.3 2.81 b4 5%
& i) 115.1 4.85 203 2.42 56.8 2.67 64.7 2.71 114.6 a7 20.1 2,86 56,7 337 64.2 267 & Vil
b=t ] 114.9 474 203 2.70 57.2 2.92 64.6 2.51 114.4 4,60 20.0 2,65 55.9 2,97 64,2 262 & i
% B 115.3 4.91 20.4 2.43 57.3 2.71 64.6 2.66 114.4 495 19.9 2.59 56.7 2.94 64.1 265 i "
-3 L 115.4 4,81 205 2,66 57.3 2.74 64.8 2.57 1143 " 456 20.0 2,56 857 2,83 64.1 2.56 £ ir%}
f& * 115.4 464 206 2,97 57.3 3.38 64.7 2.73 ! 114.6 5.10 20.0 2.75 56.7 3.06 4.1 2.86 HE Z
x bis 115.3 4.82 20.7 3.80 57.3 3.29 64.7 2.71 ] 114.6 4,88 20.3 296 56.0 3.26 64,3 2,69 * 5
= 554 116.1 4.72 20.4 2.74 57.2 3.07 64.5 - 279 114.2 4,70 19.9 2.97 £5.7 3.21 63.9 278 = %
BE B B 114.6 477 20.4 2.78 57.1 3.02 64.3 277 113.6 4.47 19.6 3.03 5.4 2.78 63.7 272 | g R B
il | 14.3 478 205 3.01 57.4 3.24 64.3 2.88 113.5 4,57 10.9 2,63 56.0 3.19 63.8 267 # &
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HERFR

8. HREMTIEF

SE - RE - WH -

TE—38

£ B (m & & (ke) fa B (w B (cm)
X bix
£z £ 121.4 5.04 23.2 3.69 59.6 3.61 67.4 2.85
it s Pl 121.8 6.47 23.7 4.45 59,7 4.33 67.3 3.13
& Fod 121.8 631 23.6 3.83 60.1 4.04 67.5 2.69
= E 121.5 5.16 23.5 3.98 60.2 4,14 67.3 2.99
= 73 121.9 4.94 23.6 367 60,2 3.79 67.6 2.83
4 H 122.0 5.01 23.7 3.74 60.2 3.65 67.6 3.01
in i3 121.9 5.06 23.2 3.31 59.5 3.45 67.9 273
b4 =X 121.4 4.77 23.3 3.43 59.8 3.54 67.4 2.81
* % 121.7 5.33 236 3.87 60.0 3.87 67.5 3.05
i & 120.6 4.85 23.1 4.9 59.5 3.90 67.1 2.89
B B 121.0 5.03 23.1 3.52 §9.6 3.63 67.2 2.79
% E 121.4 4.92 23.3 3.40 5.6 3.61 67.4 2.87
F ® 121.5 5.08 235 5.56 59.6 3.21 67.3 2.94
k- =1 121.9 5.00 23.6 3.78 59,8 3.85 67.7 2.79
ki = ik 121.9 4.95 23.4 3.66 59.7 3.91 87.6 2.61
5 P! 121.9 5.30 23.1 3.28 59.6 3.58 67.6 2.76
=1 i 122.2 5.20 23.7 3.68 60.0 3.37 67.9 2.82
A il 121.9 4.89 23.2 3.44 59.9 3.83 67.5 285
& i 121.7 4.66 23.3 4.11 §9.7 3.27 67.6 263
th 1 121.4 4.91 233 3.80 59,7 412 67.2 2.57
B % 121.8 5.21 23.4 3.86 58.7 367 67.6 2.98
i B 121.3 5.08 22,9 3.46 59.6 355 67.4 2.85
e i) 120.9 4,63 23.0 3.28 59.6 3.40 67.3 2.61
& 4| 121.1 5.05 22.8 3.08 58.9 2.85 67.2 285
= & 120.8 5.09 23.1 3.68 59.6 3.63 67.2 2.93
# " 121.6 6.11 23.4 3.65 50,7 3.64 67.6 3.05
=3 0 122.1 5.13 23.3 3.33 58,7 3.48 67.8 290
x B 121.6 4.96 23.3 3.61 59.5 3.66 67.4 276
153 o 121.8 4,95 23.2 3.27 50.4 3.45 67.7 278
%= B 121.5 5.05 23.1 3.73 59.8 3.92 67.2 2.97
fn # [if] 121.4 4,98 23.2 3.42 59.4 3.76 67.6 2.83
B J:id 121.2 5.17 23,1 3.62 59.7 3.57 67.6 2.98
B B 120.7 4,74 227 3.24 59,1 361 67.5 2.59
i) i 121.2 495 227 2.97 59.2 3.04 87.4 279
Irs B 1207 479 229 3,24 59.5 3,23 67.4 2.60
1 o 120.4 4,90 22.6 2.95 59.0 3.03 66.9 2.82
## B 121.6 5.12 23.2 3,31 50.3 3,49 67.2 2.77
& m 120.8 477 229 2,78 50.6 2.88 67.2 2.80
A % 120.9 475 23.1 3.25 59.3 334 67.2 2.90
' bl 120.7 5.03 22.9 3.28 59.3 3.58 67.2 2.78
] 55} 120.7 4.80 23.0 3.59 59.4 3.72 67.3 2.96
# B 120.7 5.03 226 327 59.0 3.47 67.0 2.77
& o 120.5 4.94 22.8 3.23 50.2 3.08 67.1 2.86
) X 121.1 5.10 23.1 3.64 59.8 3.43 67.3 3.10
X 5 120.7 5.15 228 3.22 59,1 3.22 67.0 2.90
= [ =3 120.4 4.92 22.6 2.84 50.1 2.96 66.7 2.89
jiz:) " OB 120.4 5.07 22.8 3.54 59,4 3.83 66.9 3.09
ol & 119.2 4,66 22.6 3.94 59.0 3.24 66.5 2,78
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JEE 7 O S E T R AR 2= (73
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5 B (mw & # (o) e A (w i & (m)
B 4y
ol O | BEEE | F Y M BBEFEE| T Oy o Eugx | T oy o B
120.6 5.07 226 3.44 58.0 3.62 66.9 2.83 E =
121.2 4.56 23,2 3.74 58.3 417 66.9 2,55  ®w
120.9 5.28 23,0 3.97 58.6 4.22 67.1 3.08 # #
121.3 5.30 23.3 3.79 §8.9 3.81 67.1 2.96 # F
121.0 5.04 23.1 3.88 58.9 412 66.8 3.1 " b4
121.3 5.26 23,1 3,63 58.6 4.02 67.2 3.13 74 H
121.0 477 23.2 4.33 58.3 3.93 67.1 2.67 i i3
120.3 5.07 22.4 3.48 57.9 3.58 66.6 3.00 o B
120.8 5.11 22,9 3.72 58.3 4.10 67.0 3.21 #* %
120.6 5.01 22.8 3.35 58.5 3.88 66.8 2.86 b &
120.5 5.10 226 3.67 57,9 3.91 66.8 295 ﬂi ,a§
120.7 477 227 3.49 58.0 3.57 67.0 2.68 2 x
120.8 5.21 227 3.47 58.4 3.60 67.0 2.93 T+ i
121.0 5.15 22.8 3.32 58.1 3,37 67,1 2.88 B I
120.8 5.22 227 3.87 58.0 3.67 66.8 2.88 b & N
121.5 4.78 23.1 3.57 58,7 3.95 67.4 2,59 & B
121.0 472 22.8 3.16 58.0 3.65 67.3 2,66 H it}
1211 4,77 22.8 3.35 58.1 3.49 67.1 2,68 bt H
120.8 4.97 22.8 4.28 58.4 3.95 67.2 2,86 ] it
120.3 5.05 226 3.74 8.1 411 66.6 2.86 thy 4
120,4 5.12 22.4 3.37 58.0 3,70 66.9 2.66 £ 52
120.3 4,87 226 3.47 58.4 3.56 66.6 2.73 173 B
120.2 494 22.3 3.08 58.0 3.55 66.9 2.66 % i)
120.0 5.51 222 3.28 57.4 3.50 66.7 2.87 & &1
120.3 4.86 224 3.32 57.8 3.53 66.9 2.66 = &
120.9 495 227 3.09 58.0 3.26 67.2 2.79 % "
120.4 5.11 224 2.99 57.9 3.17 66.9 262 | B 0
120.9 471 225 3,12 57.5 3.27 67.2 2.49 X &
120.8 5.17 226 3.13 58.0 3.68 67.3 2,86 J=4 &
120.6 4.74 225 3.39 8.0 3.66 66.9 270 E-3 B
120.5 459 22,6 3.28 57.9 3.66 67.2 2.54 Mmoo o& W
120.3 5.41 223 3.17 57.9 3.29 67.1 2,85 B 2
119.9 5.07 22,1 3.13 57.5 3.22 66.9 2,81 B i
120.3 4.82 223 3,09 57.8 333 66.9 270 | @ i
119.9 4,96 226 3.25 58.1 3.50 66.9 2.73 i B
119.6 4,70 22.0 3.16 57.7 3.27 66.5 2.73 i o
1206 4.94 22.7 3.20 57.9 3.32 66.6 286 | & B
119.8 483 22.4 324 58,0 3.36 66.8 537 | & LI
120.1 5.17 22.4 3.34 57.7 3.47 66.8 3.01 = i
120.3 488 226 485 57.7 352 66.8 2.66 & &
119.9 5.21 22.1 3.34 57.5 3,50 66.7 282 | 18 i)
119.9 5.19 22.0 2.83 57.6 2,97 66.6 29 | & "
119.7 5.03 22.0 3,09 57.4 3.28 66.4 218 | & i
120.4 474 225 211 57,9 3.64 66,9 277 | #& S
119.9 4.87 227 3.88 58,0 37 66.6 269 | K 4
119.7 5.24 22,0 2.98 57.4 3.02 66.5 288 | B i
119.9 4.97 22.3 318 §7.9 3.47 66,5 306 | BE KR B
1191 4,93 22.4 3.60 57.9 3.90 66.4 282 |pf |
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Bm—

£ £ (m) & # e g B (w [ & )

X bal
ES = 126.9 5.35 26.0 4.45 61.9 432 69.8 2.92
dk # @& 1275 6.21 27.1 5.90 62.7 5.89 60.9 3.08
H # 128.1 5.19 27.0 5.24 63.1 5,85 70.5 3.02
& F 127.4 5.59 26.6 4.88 62.8 4,86 60.8 2,98
B b4 127.2 5.24 26.3 4,09 62.3 3.93 70.0 2.86
*® 2t} 127.2 5.37 26.2 432 62.3 414 69.9 2.69
i i 127.3 5.42 26.2 462 61.8 3.97 70.1 3.00
b | =1 126.7 5.28 26.2 4.70 62.2 4.64 69.8 2.90
% 5 127.1 5.31 26.4 4.68 62.3 475 69.8 2.86
5 & 127.2 5.12 26.4 471 62.4 4,54 69.9 2.89
i B 126.7 5.17 26.0 418 61.9 416 69.6 2.67
- I 127.1 5.34 26.1 4,52 61.9 4.51 69.9 2,97
F fi3 127.1 5.25 26.3 4.98 62.2 5.03 69.8 3,02
H =4 1275 5.01 26.5 431 62.3 4.39 70.2 2,65
wmoo& ) 127.0 5.76 26.2 454 62.0 4.41 69.9 3.07
s B 127.2 4.99 25.9 4,27 61.8 3.75 69.9 2.90
= 1 127.3 5.29 26.4 415 62.2 3.91 70.2 312
b= n 127.3 5.60 26.1 4.40 62.2 4.37 70.0 2.83
15 H# 126.9 5.48 26.0 4.41 62.2 4.39 70.0 2.96
W £ 126.8 5.24 25.9 4.61 61.7 465 69.5 2,73
I 54 126.8 5.10 257 4.03 61.7 3.83 69.8 2.84
s B 126.2 5.19 255 4.82 61.4 3.39 69.4 2.83
3 5] 126.0 5.00 25.4 4.08 61.8 4.14 69.4 2.81
5 & 126.7 5.07 25.8 4.28 61.6 4,23 69.7 276
= & 126.7 5.25 26.0 484 61.8 418 69.8 2.96
# " 126.8 5.33 25.7 4,03 61.5 3.82 69.8 2.92
= 0 127.5 5.34 26.3 4.49 62.1 4.39 70.2 3.08
X R 127.2 5.13 26.0 4.30 61.6 417 70.1 3.00
= =24 126.7 5.58 25.4 3,52 61.3 3.48 69.9 2.77
5 =) 126.8 5.04 265 3.91 61.7 3.73 69.7 2.86
% W 127.0 5.07 25.6 3.82 61.4 3.91 70.1 2.69
= B 126.4 4,95 26.6 3.77 61.8 3.86 69.9 2,08
B B 126.1 499 25,5 3.82 61.3 3.77 69.8 2,89
] 1y 126.3 5.75 25.4 4.69 61.4 4.24 69.7 2,99
'S B 126.5 5.48 25.7 431 61.6 4,00 69.8 3.06
s 0 125.7 5.12 25,1 3.59 61,2 3.46 69.4 2.81
-2 = 126.4 5.16 25,7 3.79 61.3 3,78 69.4 3.13
& i 126.5 4.91 259 4,43 61.8 4.36 69.7 267
4 12 126.4 5.39 25.6 3.99 61.4 3.72 69.6 2.91
& bl 125.7 5.21 253 3.87 61.2 3.95 69.3 276
b 7] 126.7 4.96 25.8 3.78 61.8 3.62 69.8 2,98
{E " 126.3 5.26 25.5 4,12 61.5 3.82 69.5 2,88
& i 126.3 5.04 25.4 3.66 61.3 3.72 69.5 2.81
1E #* 126.2 5.31 25.7 4,13 61.8 3.72 69.6 3.01
X o 126.3 5.04 25.4 3.60 61.4 3,64 69.7 2.93
= i 125.8 5.22 25.2 3,75 61.3 a7 69.5 3.25
B B B 125.5 5.31 25.0 3.36 61.0 3.32 69.3 3.01
h =2 125.2 5.38 26.1 7.29 61.9 5.24 69.3 3.20

124

HE 2
T . .
54 1 O 5 TR ERE
JE 155 O SERE K R # (R 3 (87
8E—%«

g B (w & ()] g B (m [ & (m

X 3
126.2 5.37 265 4,57 60.3 423 69.5 2,03 = B
127.2 535 26.2 4,50 60.9 481 69.5 294 b # @
127.0 5.52 26.2 4,95 61.3 5.17 6.7 3.18 & E 3
126.5 5.51 26.0 473 61.4 4,88 68.5 3.13 7["5‘ :f
126.5 5.59 25.7 4.42 60.8 431 69.5 3.18 = b1
127.0 5.12 26.4 4,40 61,5 452 69.8 2.78 B Hl
127.4 5.66 26.1 4.06 60.7 4,24 .69.9 297 Ll i
125.7 5.45 26,3 4.36 60.5 428 69.3 297 & =2
126.6 5.55 26.0 6.71 60.5 4.38 69.5 2.96 #* 3
126.3 5.20 25.9 4,24 60.9 435 69.3 2.90 b *
126.5 5.73 25.8 466 60.6 4.80 69.4 3,02 3 &
126.2 4.91 25.2 3.83 60.1 4,02 69.4 269 b B
126.2 5.16 25.4 410 60.3 3.98 69.4 322 T ki
127.1 5.89 26.0 4,60 60.7 464 69.9 3.00 B i)
126.5 5,02 255 3.93 60.3 4,04 69.5 2,84 (IS H
127.0 5.30 25.7 3.86 60.5 3.98 69.7 2.81 w =]
127.0 5.15 25,9 4.38 60.2 4.55 700 293 B t
126.9 5.26 253 3.80 60.4 3.63 69.7 2,92 ral N
126.0 5.57 25,3 4,44 60.4 3,76 69.5 3.03 & 3
125.8 5.38 25,2 3.99 60.1 4.00 689 2.74 1 ol
126.5 4,91 255 4.00 604 363 69.6 3.04 & 54
125.7 5.21 25.0 3.93 60.3 414 69.1 3.08 ;3 2
125.5 5.72 25.1 4.03 60.3 4.23 £9.1 2,92 i i}
125.7 5.29 25.2 3,08 59.9 4,06 69.2 291 & b
126.2 5.24 256 4.20 60,5 3.98 69.6 2.85 = &
126.5 4.99 25.1 3.72 59.9 3.67 69.4 289 i3 =
126.3 5.33 25.1 3.85 50,0 3.87 69.6 2.83 = n
126.0 4.98 255 6.68 50.6 392 69.4 2,64 X 17
126.7 6.32 25,7 483 60.5 414 69.9 2.86 f=4 B
126.5 5.18 25.1 3.97 60.2 3.88 69.5 295 & B
126.2 6.45 25.4 418 60.2 437 69.6 2.80 i &
128.0 5.54 25.3 4,03 60,3 4,20 69.7 3.10 B B
125.5 537 25.1 3.98 0.1 3.97 69.4 3,00 B Fics
125.4 5.31 248 3.81 §0.0 3.98 69.2 275 7] 1
125.7 5.41 25.4 425 603 4.16 69.5 3.03 'S B
125.2 5.11 247 3.62 59,7 3.77 69.2 265 i 0o
126.8 5,29 25.3 4,06 60.0 4.01 69.3 292 # =1
1255 5.01 25.0 3.81 60.1 412 69.2 2.86 & i
125.7 5.34 25.3 4,23 60.1 4,22 69.2 322 & %
125.4 5.81 25.0 4,49 59.9 437 69.0 3.20 =3 &1
126.1 5.34 265.4 431 60.5 4.47 69.7 2.90 = i
125.6 5.38 26.0 6.18 59,7 377 69.1 2.89 % =
125.7 5.29 249 3.59 59.8 3.44 69.3 2,84 & i
1259 5.44 28.2 4,18 60,1 4.43 69.4 3.06 )i -3
126.0 5.47 25,7 6.50 60.2 413 69.5 312 X 5
125.4 5.37 24.9 3.89 50.9 4.07 69.1 3.13 = i
125.3 5.12 25,0 4.00 §9.7 4,29 69.1 3.02 BE B B
124.9 5.39 25,1 4.49 60.0 441 69.0 3.21 bl e
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ol oE|BRERE | B BEEZ (T OB @ BEREE | Y B @ S o oM | BERE | P Y | EemEs | E oW BeEs | T 8 B EeRe

= 132.0 5.41 28.9 5.16 64,2 4.86 72.0 2,93 131.9 5.83 28.5 5.07 62.8 4,86 71.9 3.18 S £3
k& ﬁ 132.8 5.61 29.7 5.24 64.6 485 72.1 2.99 132.6 5.65 20.3 5.84 63.3 5.22 72.0 3.08 I @ @
& # 132.4 5.44 29.5 5.80 85.0 5.73 72.0 2.79 132.2 5.96 28.9 5.47 63.5 5.63 72.1 3.18 #
.u =
& F 132.2 5.89 29.4 6.17 65.0 5.50 72.0 318 132.5 6.11 29.3 5.43 63.9 5.02 722 3.46 & F
=4 B 132.4 5.51 20.5 5.25 64.6 478 72.3 293 132.0 .96 28.9 4.92 63.3 4.84 7.7 3.31 =4 21
74 i1} 1327 5.62 29.3 5.00 64.8 470 72.3 3.11 182.7 5.86 29.4 5.02 63.5 4.99 723 3.08 B E
th i 132.4 5.58 29.4 5.40 64.4 5.03 72.2 291 1328 6.09 29.5 5.55 83.6 5.25 724 3.46 il #
# =] 1317 5.48 29.0 5.34 64.4 479 7.7 2,91 131.8 5.83 28.8 570 3.0 5.48 71.8 3.18 ] &
® b5 132.6 5.67 29,7 5.70 64.8 5.03 72.1 3.0 131.8 5.88 28.9 5.49 63.2 5.39 ne 3.16 & b
5 PN 132.0 5.38 29.2 5.06 64.3 4.69 71.8 287 131.8 5.89 28.8 5.32 3.2 5.32 7.6 315 o1 PN
i - 132.0 5.10 29,2 5.31 64.6 5.07 72.0 2.80 131.4 5.77 28.5 4.81 62.9 5.03 715 3.16 B B
b3 * 131.7 5,28 29.0 5.89 64.6 5.93 71.9 2.99 131.6 5,56 28.2 4,69 62.5 4.75 71.7 3.06 3% ES
+ i3 132.3 5.66 29.3 5.39 64.6 5.31 72.1 3.05 131.6 5.64 28.6 5,15 63.0 484 71.6 3.16 F =
B 3 132.1 5.25 29.2 4.98 64.3 471 72.0 2.91 132.2 5.82 28.7 475 62.9 4.70 72.0 3.23 B =
wmoox= N 132.2 5.43 28.9 5.28 64.0 4,95 71.9 2.87 131.8 5.44 28.7 5.14 62.8 4.76 71.8 3.1 & N
b7 =) 1326 5.14 29.1 4.94 64.2 4.46 72.4 2.92 132.4 5.96 28.6 491 63.0 476 72.1 327 # -]
=1 L 133.0 573 29.8 5.61 65.1 5.31 72.8 2.86 132.9 5.95 29.1 4.78 63.2 4.80 725 332 =1 th
e | 1327 5.60 29.3 5.34 64.4 4,96 72.3 2.80 132.9 5.90 29.0 5.31 63.3 4.97 72.3 3.27 ] n
& # 132.3 5.54 29.1 5.10 64.4 478 72.3 3.09 132.2 . 615 28.5 5.02 63.1 475 723 331 @& H
iy il 131.5 5.29 28.9 © 529 64.0 5.12 71.6 2.93 ‘ 132.0 6.12 28.5 4,80 62.7 467 71.6 316 1 B
5 7 131.6 5.13 28.6 483 63.9 439 71.9 2.83 131.9 5.89 28.3 4,45 62.7 4.29 71.9 3.08 & g
153 B 131,9 535 28.9 5.04 64.4 471 721 2.93 131.6 5.98 282 4.98 62.8 4.89 7.7 309 5 B
i3 e} 131.5 5,09 28.6 4.80 64.2 482 71.9 2.83 131.5 561 28.4 4.72 63.2 478 71.7 2.93 # 55}
& il 131.7 557 28.7 5.48 63,7 5.11 72.0 2.99 131.6 6.08 28.2 4,72 62.3 457 71.9 3.17 = il
= & 132.2 ; 5,11 29.0 4.84 84.2 4.74 72.5 2.90 131.4 5.64 283 4.84 62.7 472 71.9 3.02 = -
& " 132.6 5.39 28.8 4.54 63.9 4.34 72.3 2.78 131.8 577 28.4 4.85 62.6 4.99 72.0 3.27 i3 B’
xR 0 132.2 5.34 29.1 551 64.3 5.07 72,2 2.83 s 132.2 5.74 29.1 7.08 83.1 5.09 72.2 3.04 = &
X fz 132.1 5.30 29.2 498 83.9 4.72 72.3 2,55 ] 132.4 5.91 28.5 5.10 62,6 5.06 721 3.28 K 53

B 132.1 497 28,8 4.58 63.8 4.31 723 2,94 132.1 5.85 28.3 4,59 62.6 4.81 723 3,07 R |i::4

B 131.9 5.63 28,5 467 63.8 4.18 71.9 2.88 132.0 5.84 28.4 5.05 63.0 4.89 71.8 3.28 # B
1 E W 132.2 5.35 28.9 4.99 63.9 4.62 72.3 2.79 131.5 8,71 28.2 4.9 62.4 5.01 71.8 2.98 =
B Jiird 131.5 5.35 28.4 4,33 63.8 421 72.1 262 - 131.5 5.89 27.9 477 62.4 4.71 72,0 331 =1 )1
B 8 1317 6.36 28.9 6.69 63.9 4,51 72.2 2.93 131.0 5.87 28.1 473 62.4 455 71.9 3.25 B B
] W 131.9 5.49 285 461 63.9 4.39 72.0 2.95 ] 131.1 5.72 27.7 4,50 62.2 4.19 71.8 3.08 il "
% = 131.9 5.32 28.6 488 63.6 4,79 72.2 295 3 131.1 6.12 28.1 461 62.4 453 71.9 3.35 I7A B
i o 131.3 5.11 28.2 465 63.6 4,18 71.8 2,98 1 131.5 5.88 28.3 5.03 825 4.84 71.8 3.34 W [
I3 B 131.6 5.13 29.0 5.01 64.2 4,81 71.8 2.93 ! 131.6 5.68 288 4.78 63.2 494 71.8 326 | & =3
& n 131.1 5.45 285 .07 64,1 4.76 71.8 2.94 i 131.2 577 28.1 4.24 62.6 411 71.7 312 & n
= o] 130.9 - 870 28.4 4.99 63.8 468 71.6 3.03 131.4 5.57 28,7 478 63.0 455 71.9 3,15 Z %
=] il 131.2 5.22 28.3 4.60 63.6 4,43 71.8 2.83 131.1 5,79 28.0 4,89 62.5 467 71.8 3.1 = bl
] [} 131.2 5.19 28.2 4,51 63,7 4,29 71.8 2.73 132.0 5.93 28.3 4.49 625 450 72,0 3.05 B8 ]
% b4 131.2 5.16 27.9 4.10 63.5 3.66 71.7 3.03 131.3 5.61 28.3 4,60 62.6 4.55 71.8 2.94 % =
& i 131.4 6.64 28.1 471 63.4 4,37 71.8 2.88 131.2 6.10 28.0 4.71 62.1 4.60 71.7 327 & i
i &= 131.9 5.53 28.6 4.83 63.9 461 72.0 3.27 132.0 6.31 28.6 5.43 62.8 5.11 71.9 352 i PN
x 5 131.6 5.73 28.6 5.08 63.9 4,79 71.8 321 131.2 6.16 28.0 4,98 62.1 4,70 71.6 3.30 * il
= i 130.9 578 28.3 5.11 63.8 5.05 71.5 3.28 131.1 5.68 27.9 4,68 62.1 4.66 71.7 3.21 = i
BE R B 131.0 5.42 28.4 4.82 63.9 4.38 71.9 2.99 1315 5.88 28.8 . 7.24 62.9 .30 72,0 3.36 BE B B
et A 130.4 5.71 28.6 4,96 64.0 4.90 7.7 294 130.5 6.06 28.4 5.27 62.6 5.09 71.8 3,51 h e
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E—3

£ B (m & ®H ke i) o (mw & & (em)

X i
2 137.3 5.91 324 6.57 66.7 5.61 74.2 3.15
t # & 138.0 579 32.8 5.90 6.9 .40 74,2 3.10
& Fo3 138.0 5.89 335 7.31 68.2 6.61 74.4 3.24
# F 137.7 6.23 327 6.06 67.4 5.46 74.2 331
= i 137.5 5,70 323 5.53 66.7 5.07 74.1 2.94
73 2] 137.4 5.85 324 6.14 67.0 5.29 74.1 3.16
i i 137.5 5.74 32,6 6.26 66.9 5.65 74.3 2.94
B =1 137.6 6.33 33.1 7.34 67.5 6.56 74.4 3.26
* % 137.4 5.74 32.8 6.47 67.2 5.93 74.1 2.96
i PN 136.9 5.87 326 6.97 67.0 6.1 73.8 3.18
e B 137.5 5.94 325 6.17 66.8 5.73 74.2 3.15
H x 137.5 5.91 327 6.40 67.2 573 74.3 3.08
TF k4 137.7 6.04 33.0 6.83 67.3 6.05 74.4 3.57
® = 137.8 5.93 33.4 6.93 67.6 6.13 74.6 3.21
#woo& ) 137.3 5.87 326 6.93 66.7 6.25 74.1 3,12
# ] 137.6 5.65 32.2 6.00 66.7 5.34 74.4 2,96
- Ll 137.8 5.46 32.7 6.00 67.0 6.34 74.7 2.97
A n 138.2 5.55 32.7 5.72 67.0 5.25 74.5 3,06
& 3 137.4 6.05 324 5.90 66.8 5.20 74.4 3.40
1 B 137.6 5.98 33.0 6.69 67.2 5.55 74.2 3.01
=3 g 137.2 5.60 32.1 5.78 66.6 5.02 74.2 3.10
3 B 136.9 5.85 31.4 5.24 66.1 471 73.9 3.02
i 55} 136.7 6.10 32.0 6.46 66.8 5.73 74,1 3.35
b4 bt 136.6 5.98 316 5,78 66.2 5.45 73.8 3.08
= 2 137.2 6.00 32.3 6.23 66.9 B.79 74.3 3.09
& o 137.4 5.70 32.3 6.07 66.3 5.29 74.3 2.99
= i 137.5 5.95 32.2 8.27 66.5 5.63 74.4 2.97
x 13 137.5 5.69 32.9 8.18 66.5 5.46 745 2,93
= & 137.1 6.19 32.0 6.07 66.5 5.53 74.3 3.28
= B 137.4 5.91 325 6.08 67.1 5.31 74.3 3.17
1 o#® W 137.0 6.01 32.0 6.09 66.5 .35 74.2 3.38
)= i1 137.8 5.96 31.9 5.48 66.3 4.85 74.7 3.29
B bt 136.3 5.42 31.7 6.05 66.1 476 74.2 2.93
i i 136.7 6.06 31.8 5.87 66.2 5.12 74,2 3.25
15 = 137.1 6.26 32,1 6.12 66.5 5,22 74.3 3.33
i ] 136.8 5.55 31.7 5.40 66.2 4.80 74.1 3.06
i3 B 137.2 6.27 33.2 7.78 67.0 6.16 74,2 3.34
E i 136.1 5.58 31.3 5.13 66.1 4.74 73.6 2.89
Z % 136.5 6.00 31,9 7.35 65.8 472 73.8 3.21
= bl 136.1 5.96 1317 6.18 66.1 5.54 73.8 2,93
# 5} 137.1 5.76 31,8 6.01 66.3 5.15 745 3.01
& & 136.9 5.57 315 5.35 66.1 4.49 74,0 2.80
B i 136.5 5.80 31,6 5.88 66.2 5.00 73.9 3.17
fE #*® 136.8 5,82 31.5 7.08 65.9 425 74.0 3.33
x % 136.5 6.18 32.1 6.70 66.4 6.00 74.0 3.26
= i 135.9 5.67 31.0 5.43 65.9 5.07 73.7 3.32
B R’ =} 136.2 5.93 31.5 5.53 66.3 4,88 74.0 2,96
bl . 135.3 6.02 33,0 9.39 66.5 5.42 73.8 3.17
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. ~pr. pea
=1 ) 3 TEERZE (1058
JHE 75 O A UMRE 107

10 ®—%&
5 & (w #* & (ke) B B () HE & (em)

K 5
138.3 6.69 326 6.48 66.1 5.83 74.9 3.65 £ £
138.7 6.61 33.4 713 66.8 6.60 74.8 3.59 &t % @
138.7 6.85 336 8.42 67.3 6.01 75.0 3.59 #H pe3
139.0 6.56 335 6.82 67.3 6.29 75.0 3.84 E=1 ES
138.8 6.51 329 6.20 66.5 5.67 75,1 3.75 = %
139.5 6.83 33.7 6.91 67.3 6.25 75.4 3.69 Fk H
130.1 6.76 33.4 6.90 67.0 6.35 76.1 3.46 1y i
138.3 6.48 328 6.92 66.4 6.18 75.0 3.56 = 2
138.1 6.66 33.0 7.87 66.4 5.69 74.7 3.77 b R
138.3 6.72 33.1 6.79 66.6 5,98 74,7 3.56 5 A
137.5 6.83 323 6.47 66.0 5.93 74.3 3.67 i3 B
138.9 6.51 33.1 6.52 66.5 6.00 75.1 3.40 & ES
137.7 6.98 324 6.30 66.4 6.13 74.6 3.91 F 3
138.9 6.80 335 6.92 66.6 6.18 75.1 3.52 ) =
138.6 6.79 32.7 6.36 66.1 .91 74.8 3,65 i # J 1
139.6 6.91 335 6.09 67.1 5.42 75,5 3.63 by =]
139.6 6.66 33.1 5.75 66.5 5.40 75.8 3.58 & i
139.4 6.53 32.8 5.81 66.2 5.16 75.4 3.41 a Jifi
1385 6.57 33.1 8.17 66.7 5,82 75.1 3.55 B #+
137.9 6.77 324 6.15 66.2 5.73 746 3.66 1 g
138.0 6.82 31.8 5,75 65.6 5.18 747 3.60 5 112
137.6 6.45 31.3 5,69 65.3 5.26 74,4 3.51 53 B
137.8 6.58 320 5.65 66.0 5.43 74,7 3,69 e ]
138.4 6.59 325 6.64 66.7 5.81 75.0 3.67 5 1]
137.8 6.63 323 6.27 65.9 B.71 74.8 3.49 = &
138.7 6.13 326 6.01 66.0 5.50 75.1 336 | % =
138.8 6.82 32.8 6.61 66.3 5.88 75.1 3.95 = 0
138.1 6.55 325 6.63 65.5 5.84 75.0 3.36 x 73
138.3 6.71 32.2 5.73 65.8 5.26 75.0 3.66 & K
137.7 6.47 31.8 5.87 65.8 5.38 748 3.60 & B
138.5 6.74 328 6.81 66.1 5.80 75.1 3,52 . &
138.5 6.86 32.8 6.16 66.4 5.63 76,5 3.88 - i1
138.2 6.48 321 5.80 65.8 5.60 76.3 3.49 2 i
137.7 7.10 31.5 5.75 65.2 5.42 745 3.79 i} i
137.6 6.84 32,1 6.24 65.9 5.67 74,7 3,75 IS B
137.2 6.47 317 5.74 5.3 5,22 74,5 3,73 if] [m]
137.8 6.45 32.9 6.72 66.0 5.87 74.9 3.52 # &
137.6 6.37 321 6.32 65.9 5.60 74.7 3.48 & M
137.1 6.37 316 5,62 65.3 5.39 74.6 3.46 b4 1
137.3 6.85 31.9 5.94 65.4 5,36 74.8 3.72 = bt
138.2 6.88 325 6.53 65.9 6.11 751 381 #H i}
138.4 6.75 323 5.72 66.0 5.27 75.0 3.68 ¥ "
137.5 6.50 31,2 4.97 64.7 4.59 745 362 | & 17
137.8 6.83 321 5.81 65.8 5.51 74.7 3.68 & x
137.5 5.88 322 5.79 65.8 5.73 74.8 349 | X 5y
137.3 .66 31.3 5.67 65,0 5.24 74.4 3.74 =4 553
137.9 6.68 322 5,78 65.9 5,26 74.9 3.87 BE R B
137.4 7.02 326 6.75 66.2 6.04 75.1 401 | #h -

128



EGE AR

8. HRENTIEFI

BE - RE - Mgk -

HNE—5

=4 & (mw 3 o ke i ] B (em) B & ()
X 49
2 23} 1429 6.72 36.2 7.39 69.3 6.06 76.6 357
 #® & 142.8 6.83 37.2 8.79 69.8 7.24 76.1 3.68
& #x 143.8 7.03 37.3 7.71 70.5 6.38 76.9 3.74
B F 1435 8.70 37.1 8.92 70.2 6.64 76.6 3.64
= 3k 1432 6.73 37.0 8.99 70.0 6.50 76.9 352
B H 143.8 6.63 37.2 7.65 706 6.60 77.0 338
il A 143.9 6.50 37.0 7.28 69.9 578 77.2 343
o B 143,0 6.0 37.2 9.35 69.9 6.53 76.7 3.62
% % 142.7 6.91 36.2 7.46 69.4 5.77 76.4 3.54
% S 143.6 6.29 37.0 7.63 703 6.65 76.6 343
B J:4 1426 6.34 358 6.73 69.1 5.47 76.2 3.21
k- ES 1433 7.07 36.6 7.94 69.7 6.74 76.6 3.65
F & 1434 6.83 36.4 6.89 69.4 5.86 76.8 3.79
B’ o 1435 8.73 37,0 7.44 69.7 6.17 76.7 373
b # W 143.2 6.48 36.0 6,79 68.8 5,71 76.7 3.49
# =} 1435 7.14 36.9 7.61 70.0 6.38 76.9 3.84
1 ] 143.5 6.46 36.2 6.64 69.5 5,80 771 3.34
P i 144.0 6.70 36.4 7.52 89.4 5.75 76.7 3.48
e s 142.8 613 35.4 6.14 80.1 5.13 76.8 334
th ) 142.3 6.89 36.0 747 69.2 6.37 76.0 3.67
£ % 143,0 6.87 35.9 7.25 69.1 5.88 76.7 3.60
153 B 1422 6.50 35.4 6.56 69.0 677 76.3 335
# i 142,1 6.52 36.7 6.66 69.4 5.64 76.4 3.63
% %1 1423 6.79 3654 6.97 68.7 5.70 76.2 3.52
= & 142.8 6,62 36.2 6.96 69.5 5.64 76.8 3.33
i3 " 143.1 6.67 35.6 6.62 68.9 5.40 76.7 3.60
4 E-id 143.3 7.31 36.4 7.20 69.4 6.13 76.8 3.76
X iR 1435 6.43 36.9 7.26 69.6 6.23 77.0 3.62
14 [ 1426 6.64 36.2 8.85 69.4 6.25 76.8 3.50
# B 143.0 7.18 35.9 7.61 69.3 6.44 76.6 3.70
m & W 143.3 6.31 36,2 661 69.4 6.11 76.9 3.30
B )¢ 142.4 6.49 35.6 6.86 69.3 5.94 76.6 3.33
B B 142.3 6.92 35,1 6.55 685 5,26 76.6 3.57
5} i 141.8 6.32 35.0 6.81 68.5 5.67 76.1 3.37
Jr s B 1422 6.16 35.3 6.44 68.6 5.19 76.5 3.48
1 [} 142.1 6.24 353 6.82 68.7 5.77 76.4 3.40
A B 142.3 6.69 363 7.68 60.4 6.52 76.3 3,55
& i 141.8 6.34 35.5 7.19 89.2 6.14 76.3 3.43
b4 # 142.2 6.59 35.7 6.68 88.8 5.48 76.4 3,57
5 @ 1422 6.78 35.7 6.97 69.0 5.82 76.4 3.64
8 i 142.2 6.58 348 6.55 68.5 5.44 76.2 3.36
% = 142,0 6.60 34.9 6.56 68.5 5.56 76.2 3.34
£ [ 141.6 6.64 346 5.04 68.3 498 758 357
i1 b 141.9 6,38 35.0 6.15 68.5 498 76.3 3.47
X 2 141.7 6.36 35.3 6.41 688 5.68 76.2 3.31
= i 141.9 6.57 36.3 5.94 68.8 5.40 76.2 3.51
BE B 5 141.7 6.45 35.0 8.35 68.6 5.26 76.4 3.38
b a 141.3 6.70 36.3 8.11 70.0 7.16 76.4 3.56
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144.9 6.88 37.3 7.25 700 6.30 78.2 394 2
145.6 6.83 38.2 8.29 70.4 6.86 78.2 3.80 # H
145.8 8.75 38.6 813 71.4 7.02 785 385 £
145.4 6.67 38.3 7.59 709 6.23 78,0 3.90 ey F
144.7 7.32 37.6 6.91 70.4 6.22 78.0 392 = b4
146.0 6.44 389 7.44 71.3 6.30 78.6 3.80 ¥k H
145.7 6.82 38.0 7.27 70.5 6.32 785 374 s ¥
144.2 B.75 37.7 7.61 704 B.71 778 3.87 8 B
144.8 6,93 37.3 7.23 70.2 6.22 78,0 4.18 % %
144.6 6.63 37.8 7.34 70.6 .21 777 3.83 i *
145.3 6.74 37.5 7.15 70.1 6.31 782 4,08 i3 B
144.5 6.93 369 7.8 69.4 6.41 780 3.84 ool &
144.8 6.94 37.7 7.54 704 6.45 782 3.88 + #®
144.8 7.08 37.6 7.39 70.1 8.51 78.1 4.01 B H
145.2 6.81 37.2 8.97 69.8 6.15 782 413 Fil E- 1]
144.9 6.57 37.4 7.17 70.1 6.16 782 3.55 by b=
145.5 8.63 38,1 7.67 70.7 6.67 789 3.85 1l
145.9 8,81 37.8 7.05 70.8 6.16 787 3.79 s Hi
1456 7.09 378 7.68 70.8 6.10 785 393 & #
144.6 5,49 374 6.51 70.0 5.91 77.8 371 i )
148.1 6.95 37,0 6.89 69.7 5.79 78.1 3.99 B 52
1442 7.10 36.2 6.74 69,3 5.82 778 4,08 I B
144.2 7.03 36.8 6.94 70.0 5.97 776 3.82 3 e}
144.6 6.72 36.9 6.91 69.5 6.27 78.1 3.85 & bl
145.3 6.60 37.8 7.38 706 6.39 786 3.73 = &
1455 6.83 372 6.90 69.7 6.06 78.4 3.86 # B
145.9 7.03 382 7.56 706 845 786 3.82 R il
145.3 7.14 37.4 7.20 689.4 8.22 783 4,04 X B
144.9 6.79 36.7 6.97 69.4 8.10 782 3.86 j=4 [
145.9 6.65 37.6 6.91 705 6.11 785 395 &= B
145.6 6.63 37.9 7.60 703 6.73 786 371 Mm%
145.1 6.60 am 6.78 70.1 592 785 3.80 = I:11]
1447 6.74 36.8 6.98 69.6 5.96 78.3 4,02 B B
1443 6.46 36.8 6.79 89.8 6,11 78.0 3.74 ) i
144.9 6.65 37.2 6.98 69.6 6.05 785 3.84 & B
144.5 6.82 37.0 6.54 69.9 5.73 78.3 371 W 0
1451 6.82 383 7.62 70.8 6.65 785 6.52 1# B
1441 6.48 36.8 7.14 69.9 6.37 77.8 378 & I
144.1 8.70 36.8 7.02 69.6 5.90 78,0 4,03 & B
144.8 7.22 38.1 7.53 70.8 6.67 786 385 = 5]
144.5 7.05 36.7 7.27 70.0 8.42 78.1 392 & It
144.2 7.04 36.0 6.53 69.3 5,76 77.8 3.89 * ="
144.3 7.04 36.6 7.11 69.3 6.24 77.9 4.10 B 1%
145.0 6.95 37:2 7.02 70.2 6.01 783 395 ] &
144,2 6.51 37.0 7.01 69.5 6.16 77.9 3.87 x %5
144.3 7.02 36.9 673 60,7 5.87 78,0 421 =4 5
143.9 8.79 36.3 6.39 69.2 5.54 78.0 4,05 B OB OB
144.1 6.80 377 7.68 704 6.90 785 421 i M
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12%—5 128%—-%
& & (m) % & (o) Ha B (o 2L & () 5 E  (n) * & (k) I B (em) s 5
A
X a X 4%
oy o EeeREE | E O M | ERRE | F B M | BRREE | F 8 M BERRE T | HERE | F Y M| Bl | o o8 | EeRE | T oy @ bl =
&= 149.8 7.79 414 8.37 724 6.38 79.9 431 150.6 6.04 42.6 7.52 745 6.08 815 3.62 & £
& B 1508 769 a2s 8.91 73.3 2.01 80.0 437 ] 151.2 6.15 430 7.52 749 8.02 81.4 3.70  #® i
B 7 150.3 7.89 424 8.94 73.2 8.78 79.9 431 150.9 5.86 432 8.03 75.2 6.40 81.3 3.42 fo
=3 * 150.3 7.68 42,1 8.94 73.1 6.50 79.9 4,26 150.7 5.84 435 7.66 75.4 6.33 81.6 357 &5 F
=3 Bk 150.5 7.59 423 8.63 736 6.32 80:1 4.36 150.9 5.97 43.7 8.13 755 6.38 81.86 3.75 = 23
F/4 A 160.7 8.06 42,0 8.43 73.2 6.41 80.2 4.37 151.5 6.25 436 7.70 75.3 6.16 81.8 3.62 b3 H
sy id 150.8 7.59 - 421 8.53 72.6 6.48 80.2 4.41 151.6 5.84 43.6 7.21 75.3 5.61 82,0 3.62 il 2
@ B 149.3 7.57 41.1 8.49 727 6.40 79.5 4.36 150.0 6.23 427 7.95 746 6.33 81.1 3.72 & B
& i 149.6 7.92 414 8.18 73.0 6.47 799 415 150.3 6.13 431 7.48 74.7 6.19 81.4 3.68 * 77
i PN 149.9 7.86 423 8.91 737 6.73 79.8 4,28 150.7 6.13 434 7.64 75.2 6.15 815 3.68 i ¥ S
B B 149.9 7.63 415 8.41 732 6.67 79.7 4.25 150.6 5.97 427 7.59 74.8 6.10 81.2 3.62 # &
=3 Ed 149.8 8.02 41.2 8.42 72.2 6.62 79.8 4.44 150.5 5.99 42,5 7.79 74.3 6.25 81.3 3.55 % E
F = 149.7 7.93 a4, 8.23 726 6.58 79.8 4.30 150.8 6.08 426 6.96 74.5 5.56 81.3 3.7 T £
® = 150.9 7.54 429 8.56 73.0 6.57 80.5 4.13 150.7 5.99 434 812 75.1 6.68 81.7 345 R b=y
M & N 150.2 8.02 416 B.57 72.2 6.53 80.1 4,38 151.2 6.26 43.1 7.82 74.8 6.33 81.8 3.67 wmoox®
i ] 150.5 7.65 4.6 8.13 72.5 6.37 80.4 4.23 151.3 6.01 429 7.26 74.6 5.81 81.7 3.83 # "
B i 150.4 8.00 419 8.32 72.7 6.19 80.6 4.52 151.5 5,61 433 7.04 75.4 6.15 82.4 3.47 & ir
f " 150.7 7.63 4.8 8.28 72,5 6.25 80.3 4.33 151.5 5.83 43.0 7.28 74.6 5.86 82.0 3.52 A n
&8 # 150.2 7.42 41.1 8.10 723 5.84 80.0 406 150.7 6.06 423 6.95 74.3 5.73 81.5 N bl H#
i 8 149.5 7.40 4.1 8.41 72.6 6.59 79.6 4.42 150.9 5.96 42.8 7.52 74.8 6.23 81.4 3.65 i g
E % 149.7 7.52 412 7.79 726 6.03 79.7 422 150.8 6.00 42.8 8.01 74.2 6.71 815 3.66 E i3
i 1=} 149.6 7.50 40.7 7.76 72.5 5.84 79.6 4,02 ; 150.3 6.34 419 7.98 74.1 5.80 81,3 3.67 (3 =}
&% il 149.4 7.60 411 8.33 72.2 6.21 79.8 4.7 149.9 6.23 421 7.37 74.0 5.83 814 3.54 # é}
& %1 149.3 7.88 407 8.06 72.2 6.24 79.3 4.34 150.4 5.58 421 7.25 74.0 5.85 81.1 3.28 2 4
= & 149.8 7.89 413 8.68 72.6 6.68 80.0 4.49 ] 151.1 5.77 42.8 7.63 74.5 6.27 81.9 3.48 = &
% " 150.1 7.67 1.4 8.37 724 5.97 80.1 423 151.1 6.01 42,6 7.34 74.1 5.94 81.6 3.70 # "
b= 0 150.8 7.71 4.9 8.38 722 6.32 80.4 - 4.27 151.3 6.38 42.2 7.35 73.6 597 81.8 3.60 = B
* 673 149.8 7.91 41.2 8.76 720 6.55 79.9 4.25 151.0 6.87 428 7.45 74.6 5,99 81.7 3.56 PN R
= B 149.9 7.59 2.3 8.79 72.5 6.43 79.9 439 150.6 5.81 41.8 6.86 73.7 5.59 814 3.51 il e
% B 150.3 7.62 414 8.14 723 6.23 © 80 4.34 151.1 6.06 427 7.39 74.5 6.13 81.8 3.78 k-3 B
it} & 149.7 7.69 411 8.22 72.0 6.41 80.1 4.45 150.9 6.32 433 7.97 74.7 6.25 82.0 3.84 1 % W
& B 149.8 774 40.2 7.09 7.3 531 80.3 4.20 | 150.9 6.17 426 7.43 74.8 5.93 81.9 3.53 B iig
B 0 149.1 7.79 40.4 7.68 72.0 5.85 79.7 417 149.7 6.40 1.8 8.33 73.7 5.76 81.2 3.76 B iz}
5} 1] 149.6 7.0 40.6 7.62 7.8 5.77 79.9 4.22 150.5 6.23 42.0 7.18 74.1 5.73 81.7 3,75 i) I
1 =X 149.,1 7.99 40.3 7.83 7.4 582 79.5 4.46 150.1 6.02 42.4 7.51 74.0 5.93 81.5 3.68 5 =3
T o 148.2 7.79 " 403 8.08 72.0 6.29 78.8 4.23 149.7 6.15 4.9 7.48 74.0 6.21 80.9 3.57 i u]
& B 149.9 7.93 419 8.12 726 6.18 79.9 4.46 160.5 6.25 439 8.66 75.2 6.42 81.6 368 | 1 B
& i 148.9 7.90 411 8.38 721 6.49 79.3 426 150.3 6.24 42.8 7.03 75.1 5.58 81.2 3.50 & i
b % 149.4 7.88 407 7.63 77 5.63 79.7 417 149.9 6.19 421 7.60 74.4 8.24 81.2 370 | L4
=3 bt} 149.3 8.01 41.1 8.43 72.3 6.51 79.6 4,62 149.7 6.41 . 420 7.25 74.3 6.07 81.2 372 -1 gl
B i 149.2 7.66 405 7.57 7.5 5.91 79.5 413 : 150.2 5.84 422 7.17 74.4 6.01 81.3 33 | 8 i}
% B 149.0 7.70 40.0 7.86 7 5.78 79.1 4.32 ‘ 1505 5.82 42,0 7.15 74.0 5.81 81.1 3.61 % B
E i) 149.3 7.77 403 7.89 717 5.62 79.5 4.08 150.2 - 6.14 a7 7.08 734 5.68 812 368 | & 55
® S 149.1 7.66 40.2 7.50 716 5.63 79.7 4.05 150.3 6.00 a7 7.02 74.0 5.76 81.3 3.83 1k &
x o2 149.2 7.89 40.9 7.92 725 6.06 70.6 418 150.3 5.95 42.6 7.25 75.0 5.89 81.2 389 | X iy
B i 148.2 7.78 39.9 7.7 7.8 5.87 79.0 418 149.3 5.97 4.8 6.87 74.1 5,78 80.9 3.82 =1 %
BE R & 1485 7.49 30.8 7.59 714 5.95 79.7 412 149.6 5.97 418 7.00 73.7 5.63 81.3 3% B R B
i b | 148.1 8.01 40.8 846 72.1 6.54 79.5 4.73 149.3 5.21 42,2 6.48 744 5.71 81.4 3.34 fes @
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5 £ () 1.3 & (ke) il B (em B # (o)
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oy M| EeEe | F B O | HEEEzE | F B M| BERE | T B @

S B 156.9 7.95 46.7 9.06 75.8 6.45 83.3 457
d #Hw @& 157.9 7.79 485 8.97 76.8 7.22 83.5 4.67
#H B 157.4 7.92 47.7 9.20 76.6 6.70 833 442
= E 157.4 7.42 46.9 8.87 76.4 6.32 83.5 4.46
=1 7 168.4 7.89 48,6 8.96 77.7 6.50 - 838 487
#* H 157.4 7.97 47.3 9.69 76.7 6.73 83.2 455
1l i 168.1 8.20 47.8 9.06 76.5 6.07 83.8 4,59
b =) 156.3 8.36 46.2 9.06 75.8 6.33 83.0 493
Fd 50 156.8 8.06 469 9,50 76.0 6.86 83.0 475
i * 156.8 8.16 46.7 8.14 76.5 6.60 83.1 4.67
b j:5 156.6 8.08 46.4 8.87 764 6.38 829 4,63
% B 156.7 7.55 47,0 9.52 75.9 6.99 83.0 4.49
+ B 157.0 7.64 46.9 8.53 76.1 6.19 83.1 4.4
# by 158.0 7.89 48,1 9.24 76.2 6.77 84.0 4,60
Mmoo&x N 167.3 7.93 46.8 9.00 75.6 6.55 83.3 4.42
Eer =) 157.4 7.79 46.6 8.31 76.0 6.01 83.6 4.73
g i 157.5 8.11 46.6 8.48 75.7 5.77 84.0 4.55
b n 157.6 7.82 46.6 7.85 75.4 5.55 83.9 4.44
Fiot #* 166.7 7.76 46.0 8.50 75.6 6.00 83.2 4.35
il £ 156.5 8.11 46.4 9.34 75.9 6.61 83.2 470
B 55 156.6 7.63 46.2 8.07 76.0 5.64 83.1 425
I =) 156.1 7.95 454 8.29 754 5.94 82.9 4.29
% 5 155.2 8.06 447 8.35 748 6.17 82.7 4,54
= ) 156.2 7.93 46.0 8.81 75.4 6.46 82.7 446
= & 156.9 7.90 46.0 8.70 753 6.34 B35 4.34
# 5 156.9 7.04 459 8.62 755 6.46 83.0 4.44
= i 157.7 7.76 46,6 8.72 753 6.35 83.8 4,60
X = 157.6 8.12 47.2 10.28 75.8 6.50 83.6 457
b oo 157.4 7.92 465 8.83 75.7 6.46 83.9 469
= B 157.0 7.91 46.8 9.01 759 8.41 83.6 4.40
o o& 157.3 7.77 47.0 8.64 75.6 6.22 83.6 4.45
& i1 156.4 7.79 454 8.03 749 5.70 83.4 4.48
B il 155.8 7.90 45.1 8.12 75.0 5.94 82.9 481
i 1L 156.7 7.92 46.0 8.43 75.3 5.95 83.3 468
7N B 156.2 7.49 46.2 8.48 75.3 6.10 83,1 4,26
th o 165.5 8.28 45.0 8.40 75.2 6.20 825 4.68
it = 156.7 8.26 47.1 8.92 75.7 6.32 83.2 467
& m 156.1 7.92 46.4 9.14 76.2 6.49 82.7 4.74
4 % 156.2 8.02 46,3 9.20 78.3 6.75 83.0 4.66
b il 156.4 7.94 46.7 9.61 76.1 6.23 83.0 453
B ] 156.6 8.08 45,7 8.92 74.8 6.36 82.9 465
% " 156.1 7.98 45.2 8.21 74.9 5.83 82.7 4.46
A i 156.6 7.61 45,6 8.02 75.0 5.77 82.9 4.48
1 b 156.3 7.97 45,8 8.61 75.4 6.23 82.8 4.44
* 5 155.6 7.52 454 8.07 75.2 5.86 82.5 4.57
= s 155.2 7.76 45.1 7.63 763 562 82.4 4.39
B B B 164.7 7.77 44.4 7.78 74.4 5.64 82.7 4.40
#h & 155.4 7.98 45.8 8.90 748 6.29 83.1 4.75

134

HEFFR
x. S -
B 15 O SFEME K VTR R 2=
J&E 75 0 SR K OE #E R 2= (135
BE—X

-4 £ (em) * & (ke ] B (w [ & (m
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154.0 5.39 465 7.26 71.2 5.58 83.3 3.19 2 B
154.1 5.50 47.0 7.74 780 6.15 83.1 2,08 i & O#
154.2 5.01 47.2 7.16 779 5.50 83.2 3.12 i) #
164.3 5.27 47.8 7.34 785 5.54 83.4 332 E= +
154.2 5.39 471 7.16 77.7 5.63 83.2 2.96 =t 3
154.4 5.44 47.3 7.28 7.7 5.73 83.3 318 B i3]
155.1 5.04 47.7 7.24 78.0 5.47 83.8 3.14 i i
153.9 5.27 472 7.30 77.9 5,57 83.4 3,03 ] B
163.9 5.34 48.7 7.27 771 5.85 83.1 3.05 % 5%
153.8 5.39 47,2 7.61 77.9 5.92 83.0 3.10 W K
154.0 5.51 466 6.96 77.0 5.36 83.1 3.14 ] &
153.9 5.35 46.5 7.18 774 5,57 83.2 3.05 % B
153.9 56.37 46.6 7.18 77.3 5.77 83.1 3,15 + i
154.6 5.25 46.9 7.45 77.6 6.01 83.5 3.29 B R
184.6 5.23 46.4 6.89 77.0 5.30 83.5 3.19 # & N
154.8 5.10 471 6.56 77.7 5.13 83.8 2,99 ¥ #
164.7 494 46.6 7.06 77.8 5.36 84.2 3.24 B th
154.8 5.30 468 7.03 77.1 5.27 83.6 3.07 a 1
154.5 5.64 469 7.06 77.8 5.36 83.6 3.22 & #+
153.8 5.49 46.2 7.35 77.4 5.78 83.2 3.30 ] B
154.0 5.06 466 6.75 77.2 5.36 83.1 291 B 33
153.4 5.50 45,6 7.05 77.0 5.78 83.0 3,18 13 B
153.3 5.68 46.4 7.10 713 5.60 83.2 322 # i}
153.8 5.51 46.0 7.95 76.8 5.34 82.9 324 F bl
153.9 5.11 46.3 6.88 77.1 5,50 83.7 2.96 = &
154.4 5.31 46.1 6.99 76.9 5.16 83.2 3.00 123 "
154.6 5.47 - 46.0 6.66 76.6 5.29 83.6 3.44 = ®
154.5 5.30 46.1 7.09 76.7 5.53 83.4 2.80 K 53
153.8 5.71 459 7.34 76.6 5.45 835 3.39 £ B
154.1 5.33 48.0 7.14 76.5 5.52 83.3 3.64 = B
154.2 5.34 46.9 7.7 76.8 5.62 83.6 3.46 1 & W
154.5 5.62 474 7.48 77.9 5.70 839 3.20 joo i
163.6 5.53 46,0 6.99 76.9 5.35 83.4 3,17 B Py
153.3 5.39 45.6 7.00 76.8 5.38 83.1 3.23 @ Uy
163.6 5.31 46.2 7.65 76.8 5.92 £3.2 3.35 s B
153.3 5.50 45,6 7.31 76.5 5.61 82.8 3.49 m a
153.8 5.00 475 7.30 77.9 5.71 83.4 3.05 i B
153.4 5.36 46.6 7.18 77.9 5.76 83.1 3,22 & it
153.4 5.20 46.7 8.07 77.7 5.43 83.2 3.08 & 18
1563.5 5.68 46.5 7.47 77.6 5.65 83.3 3.41 ;-4 &
154.1 5.50 465 7.28 7.2 5.22 83.4 3.12 & ]
153.7 5.23 46.0 6.46 771 5.06 83.0 3.17 1 "
163.4 5.33 453 6.53 76.3 5.10 83.1 3.39 B I
1563.3 573 45.8 7.06 76.8 5.47 82.9 3.15 s &
153.1 5.41 458 6.79 77.2 5.35 82.6 3.11 K 5
162.7 545 455 6.63 76.8 5.20 82.7 3.30 = i
152.8 547 459 7.73 76.8 5.33 83.1 3.18 B R OB
151.9 5.77 45.3 7.11 76.2 5.57 829 3.16 #h 8
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2 & 163.6 6.91 524 8.76 79.6 6.04 86.8 411
& # 164.4 6.51 §4.0 10.08 80.3 6.26 87.2 4,15
B & 164.2 6.73 53.8 8.81 80.9 6.15 86.9 3.97
= F 164,0 7.03 53.3 8.57 80.5 5.70 87.0 4.05
g ® 164.1 6.85 53.8 8.96 80.8 6.16 87.2 4.28
Bk ig] 164.4 6.75 53.6 8.65 80.5 5.83 87.1 4.27
in A 164.2 6.86 53.0 8.51 80.3 5,82 87.2 4,04
b= B 162.9 7.03 52.4 8.95 80.2 6.09 86.7 422
# % 163.4 6.93 53.3 9.17 80.5 6.49 86.7 4.27
% &K 163.0 7.09 52.6 8.80 80.2 5.99 86.5 4.07
B E 163.5 7.28 52.9 8.93 80.6 6.29 86.8 4.27
5 B 163.6 6.93 52,4 8.97 79.6 6.20 86.6 3.93
F ® 163.7 6.82 52.4 8.02 80.0 5.67 86.8 3.96
4 =4 164.1 6.62 53.1 8.73 79.6 6,20 87.0 3.95
i E-3 i 164.0 6.96 52,7 8.78 79.6 6.14 86.9 4,28
B =3 164.1 6.82 52,6 8.23 79.8 5.62 87.2 4.26
=+ 1y 164.8 6.66 53.4 8.68 80.2 6.12 87.7 3.91
Eat I 164.4 6.77 52.3 8,04 79.5 5.36 87.5 3.96
B H 164.1 6.71 52,6 8.65 80.0 6.12 87.1 3.80
ik E) 163.4 7,02 526 9.40 80.2 6.56 86.9 4,25
B 152 163.8 6.71 52.6 8.33 80.1 5.65 86.9 3.99
% B 163.3 6.92 51.8 8.18 80.0 5.70 86.7 4.10
% i 162.3 6.92 51.4 8.74 79.2 6.10 86.7 415
2 &1 163.2 6.96 51.3 8,68 78.9 6.26 86.4 430
= & 163.7 7.06 52.4 9,52 79.9 6.57 87.1 4.20
% " 163.4 7.30 51.8 8.48 79.4 5.76 86.6 4,27
= il 164.7 8.79 53.4 8,94 70.6 6.18 87.5 4.13
X B 164.0 6.79 52,8 8.97 79.4 6.14 87.0 4.04
=3 E 163.7 7.07 52.2 8.37 79.6 579 86.9 4,04
= B 164.2 7.02 52.8 8.93 79.9 6.21 87.1 4.01
fn & 1 164.3 6.59 54.0 9.84 80.7 6.79 87.4 411
B BY 163.7 6.84 51.8 8.04 79.2 551 87.4 4,03
B i} 163.0 6.72 51.6 7.58 795 5.32 87.1 3.94
[} fin 162.8 6.78 51.8 8.53 79.5 5.98 86.7 4,03
Ir B 163.2 6.69 52,1 8.47 79.3 5.86 86.8 3.82
1 [w} 162.2 6.86 50.7 7.97 79.1 5.40 86.1 4.28
Fiid =] 163.3 6.86 53.3 9,45 80.2 6.42 86.8 4.05
& Hl 163.1 6.93 52.6 8.61 79.5 5.99 86.6 4,05
b4 2% 162.7 6.98 51.4 8.42 79.1 5.76 86.5 4.06
;% a 162.5 7.2¢ 52.3 10.02 79.7 8.70 86.3 4,77
8 7} 163.3 6.87 51.6 7.84 78.5 5.36 86.5 4.09
i#* = 1626 6.95 50.8 8.10 78.9 5.58 86.2 412
E i 163.3 6.79 51.6 7.70 79.2 5.47 86.7 3.98
b3 7. 3 162.5 6.94 51.5 8.92 79.1 6.28 86.2 4,03
x 5 163.2 6.72 52.2 8.49 79.7 5,85 86.7 3.88
= i 161.8 6.70 50.6 7.95 78.8 560 85.8 4.21
B B B 161.8 6.91 50.6 8.21 78.6 5.61 86.3 3.96
#h & 161.3 6.64 50.4 8.10 78.0 5.66 86.4 3,94
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156.0 5.17 49.6 7.08 795 5.27 84.4 2.96 S B
155.8 5.34 49.8 8.63 80.0 5.57 84,2 2,92 & xﬁ
155.8 5.09 50.4 7.37 80.4 5.59 84.1 2,94 & ®
155.9 5.32 50.8 6.92 80.3 5,52 84.5 3,04 # F
155.9 491 50.8 7.16 80.6 5.17 84.4 2.80 = b
166.5 5.05 §0.7 6.80 80.1 5.21 84.6 3.04 B H
156.9 5.09 50.4 6.79 79.7 5.18 84.8 2.93 1 i3
156.7 5.24 50.4 6.74 80.0 5.34 84,3 3.36 B &
156.0 5.07 50.2 6.84 80.0 5.45 84.4 2,88 b i
156.9 5.12 50.3 6.81 80.1 5.18 84.2 2,79 i *x
155.9 5.50 50.4 7.53 80.1 5.86 84.4 2.76 B B
156.3 5.13 49.2 .50 78.9 5.07 84.4 3.07 b3 *
155.9 5.13 49.3 6.63 79.2 4.91 84.0 297 + EE;
156.3 5.06 49.6 7:15 79.5 5.50 84.4 2.88 R R
156.5 5.10 49.7 7.01 79.4 4.98 84.5 2.93 b = {Il
166.6 5.11 50.8 6.91 80.2 5.32 84.9 292 | ¥ =}
156.8 4.89 50.2 6.36 80.2 4.94 85.3 295 | B ]
156.9 B.25 499 6.55 79.6 4.96 85.0 3.01 E_ i
156.4 493 50.0 6.93 79.8 5.13 84.5 2,79 & H
\
155.7 5.09 498 7.05 80,0 5.43 84.5 2,90 L|J bl
156.5 484 50.5 6.81 79.7 5.03 84.6 2.96 & #
155.8 5.24 489 7.02 79.4 5.61 84.2 312 | i B
155.4 5.04 498 6.86 79.6 5.01 84.6 3.02 i 7}
155.7 5.34 49.3 7.08 79.2 5.43 84.2 3.11 & |
155.8 490 495 6.83 79.8 5.63 84.6 304 | = &
156.7 5.20 49.7 6.60 79.4 5.04 84.6 310 | #% "
156.8 5,17 49.1 6.82 78.7 6.27 84.8 2,86 w® n
156.1 5.31 496 7.89 79.5 5.14 84.4 2.71 x B
156.0 5.23 49.4 8.72 79.1 5.08 84.5 3.1 5 B
166.3 5.21 49.2 6.71 79.1 5.16 84.8 283 | & ‘ B
156.1 5.32 497 7.51 79.2 5.40 84.8 2.8 F I ST
156.1 5.19 498 6.85 79.3 5.27 84.9 2.85 =2 i1
165.6 493 49.2 6.45 79.2 4.97 84.3 2.88 B iz}
155.6 5.40 49.3 6.69 79.5 5.16 84.4 293 7 1y
155.7 5.09 495 7.10 79.3 5.56 84.6 2.69 5 B
156.6 5.08 493 6.53 79.3 5,02 83.9 2.88 i =]
155.8 497 50.5 7.20 80.2 5.44 84.6 284 | B
155.4 5.09 50.0 651 80.5 5.15 84.4 © 3.28 & i
155.6 5.08 49.4 6.67 79.7 5.22 84.4 3.06 f %
165.3 476 49.6 7.23 79.7 5.51 84.3 295 = Gl
156.1 493 487 7.05 79.1 5.01 84.3 312 | # 75}
165.9 5.38 48.8 8.21 78.8 4.73 84,1 2.89 % "
155.6 5.05 48.4 6.69 78.2 4.87 84.3 3.16 =4 i
165.3 5.07 48.8 7.23 78.9 4.91 84.1 3,01 ) b
156.2 5.07 49.3 7.06 79.5 4,86 84,0 3,07 x 5
154.9 5.02 49.0 8.27 79.2 471 84.0 437 =1 W
1566.0 5.05 488 6.36 785 4.64 84.3 2,68 B R OB
153,4 5.37 47.3 6.56 77.9 4.96 83.9 280 | &
137



MEFR MEFFE
. ~, Ty
1 =" _T_P: ,'-J ’f SETE <
8. FEWIRF K& - -HKE-WH - | JEE 1 O SR K O B 5 (155
%5 15 —%&
-4 & Cm & g &) i B (m B & () 5 £ (o & & (ke) I B m i E (m)
X 5 - & %
SE ¥ fE | EERE | E OB OB | BEeERE | Y A BERE Y B | BREREE | o MRS Es | ¢ M| BREE | MO | SRz Y o@ s o

% 3| 167.0 5.97 56.9 8.94 826 6.03 89.1 352 156.6 5.04 51.4 7.03 80.7 5.33 84.9 287 4 £
&t # & 167.2 6.06 57.9 9.90 83.1 6.76 89.0 358 ‘ 186.3 484 51.5 7.63 80.6 572 84.9 208 | db W A
& # 168.0 5.42 58.7 9.10 84.1 6.22 89.9 3.06 166.2 4.80 52,7 7.48 a1.5 5.48 84.9 243 & 2
E= F 167.9 5.82 57.9 7.99 83.6 5.16 80.8 3.58 156.2 5.06 52.0 7.68 g1.2 5.97 84.9 3.07 # F
= b 167.3 5.81 57.8 8.64 83.0 5,68 89.5 3.23 156.3 515 52.6 7.11 81.9 5.22 85.3 297 =4 4
% 32} 167.5 6.08 57.6 9.20 83.6 6.15 89.2 3.58 ‘ 156.8 5.01 52,1 6.95 81.3 5.11 85.0 2.89 3 5}
th 7 167.6 6.42 57.7 8.83 83.5 5.79 89.4 3.77 f 157.5 5.30 53,2 7.61 82.0 5.58 85.7 3.00 Uy i
= B 166.9 5.69 57.6 9.92 83.1 7.10 89.3 3.18 i 156.1 4.60 52.5 7.68 82,0 5.51 85.1 2.87 # B
x B 166.8 6.03 57.0 9.12 82.2 6.14 88.5 3.86 ] 156.8 5.12 52.3 6.36 81.2 5.16 84.6 2.86 & R
i PN 186.2 6.21 56.6 9.86 83.0 6.47 88.6 3.94 ‘ 156.6 4.77 52.2 6.89 81.3 5.10 848 3.04 i &
B -3 167.0 5.66 57.3 9.04 83.1 6.25 89.1 3.55 156.3 4.94 51.9 7.73 81.8 5.82 84.7 2,95 B B
B X 166.9 5.78 57.0 8.74 825 5.93 88.9 351 186.5 4.97 51.8 7.07 80,8 5.40 84.8 264 | B E
+ £ 166.8 5.79 56.9 8.27 82.8 5.80 88.9 3.20 156.7 a7 51.9 6.10 80.7 5.41 848 261 £ =
B ® 167.6 5,96 57.7 8.99 83.0 5.99 89.1 3.61 ! 166.9 4.81 51.3 6.82 80.6 5.01 84.7 278 B R
®w & 168.1 5.62 57.1 8.16 82.3 5.83 89.3 3.21 157.0 522 51.5 6.83 80.8 5.34 84.6 2.96 M &
i & 166.9 6.15 56.5 9.20 83.1 6.27 89.1 3.37 157.3 4,96 524 7.16 81.6 5.36 85,5 208 | B
=1 wh 167.6 5.57 57.9 8.34 83.0 5.68 90.2 3.02 ‘ 156.8 5.08 52.0 . 708 812 5.60 853 a0 | & 0
A n 167.8 5.85 57.2 9.04 822 5.76 89.4 3.38 156.8 4.96 51.3 6.65 81.0 4.87 84.9 2.57 A 1
] # 168.0 5.88 57.9 10.02 83.1 5,70 89.8 3.48 1567.6 4.47 52.6 6.75 81.9 5.19 85,6 2.69 i H#
il 4 167.1 5.65 57.4 9.68 82.6 6.40 89.3 3.56 156.5 459 51.3 7.31 80.4 5.70 84.9 257 the )
E 5 167.4 5.80 67.2 9.13 83.0 6.03 89.6 3.45 157.2 496 . 523 6.53 81.4 4,86 85.5 2.89 & 2
3 B 166.5 5.97 56.0 8.24 82.2 ' 5,66 88.8 3,54 156,8 5.28 51.0 6.80 80.5 4.93 84.8 284 i B
% G5} 166.5 6.04 56.3 8.19 82.7 5.89 89.2 3.27 156.3 5.08 51.7 8.72 80.5 5.33 86.3 278 i ]
& b 166.3 6.42 56.8 8.64 81.9 5.76 88.4 3.80 156.0 5.05 50.6 6.82 80.2 5.14 84,7 2.78 7 A
= B 167.0 6.16 56.2 8.10 82.2 .50 89.4 3.51 156.6 5.19 517 7.44 80.8 5,54 85.4 2.86 = Ey
s " 168.1 5.61 57.7 8.63 82.7 5.83 80.5 3.49 156.8 4.64 51,5 6.80 80.5 5,05 85.1 279 i3 "
b= 0 168.2 5.83 57.3 8.98 82.2 5.84 89.9 3.38 157.5 4.93 51.3 7.17 80.8 5.23 854 288 | B s
x iR 167.4 5.95 57.6 9.31 83.0 6.41 89.3 3.39 167.7 4.86 51.6 6.68 80.2 5.12 85.5 296 x B
£+ [ 167.2 5.45 56.8 9,04 82.6 5.98 89.1 3.28 157.0 5.19 . 513 7.24 80.2 5.50 85,1 274 | B B

B 167.7 5.86 56.9 9.03 81.9 6.13 89.5 3.44 156.9 5.20 51.6 7.41 81.1 5.62 86.3 305 | & B
& W 167.5 5.91 57.3 9.09 825 5.96 89.5 3.28 156.9 5.11 51.4 7.47 80.8 5.77 85.6 2.87 . &
=1 211 167.2 6,25 56.3 9.04 82.2 6.06 89,7 3.56 : 166.2 4.87 51.8 7.04 81.1 5.28 85,3 2.64 B B
B # 166.4 6.13 56.9 0.89 82.3 5.25 89.1 3.81 155.9 4.95 515 6.47 81.2 4.79 85.1 254 | B i
] i 166.4 5.89 56.1 8.93 824 5.96 89.0 363 186.2 5.15 50.9 6.63 80.9 5.20 84.8 204 | [ i
Iy =) 165.9 6.13 55.5 9.05 81.2 .90 88.6 3.59 185.7 5.00 50.8 7.54 80.6 5.69 84.8 300 | & B
iy | 165.9 6.39 54.7 8.11 81.2 5'68 88.6 3.70 186.1 4.94 50.8 6.45 80.5 491 85.0 2.79 il [w|
F B 186.2 6.03 589 8.60 822 576 " g9.2 250 185.7 5.20 51.5 . 762 80.9 5.82 84.9 205 | B
& 1 166.2 5.68 57.2 .75 826 6.60 887 356 155.7 4.96 51.6 7.35 81.0 5.97 84.5 287 | & 1
B 2 186.3 6.04 56.8 0.00 83.0 6.20 9.2 361 156.5 4.89 51.1 7.41 81,0 5.51 85.0 280 | & %
=3 il 166.3 5.90 56.4 9.55 82.1 6.11 89.1 334 156.9 5.14 50.8 8.41 80.6 5.08 85.0 280 | & il
® ] 166.7 6.34 56.1 9.25 81.8 6.24 88.6 3.85 156.6 537 50.6 7.06 80.6 5.38 84.7 308 | 18 ]
i " 166.3 5.74 55.0 7.41 81.7 5.30 88.5 335 195.8 5.14 50.8 6.79 80.3 5.21 84.8 283 | & B
& it 167.0 5.94 55.9 7.68 82.1 5.25 89.1 3.29 186.4 AN 50.2 7.10 79.6 5.08 84.9 290 | & %
R & 166.5 5.85 562 7.57 822 5.32 88.8 341 166.6 4.87 50.3 6.46 80.4 512 84.5 314 | KB ¥ 3
X 2 187.1 5.51 57.6 10.67 82.7 6.31 89.1 3.34 156.4 4.66 51.5 7.06 80,7 517 84.9 28 | Kk 2
= % 166.0 5.76 56.5 8.08 82.3 5.57 88.6 3.65 ‘ 166.6 4.90 50.5 . 6.853 80.1 5,12 84.8 214 | B %
BE R B 165.2 578 55.1 8.14 81.0 5.37 88.6 335 ©. 1866 518 s 6.86 80.4 5.38 " B4.8 287 | B R B
i - | 164.9 5.56 54.9 8.44 81.6 6.01 88.7 3.48 153.8 459 48.2 7:40 7.3 5.47 84.4 275 | A
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£ 168.9 5.71 59.2 8.55 84.4 5.81 90.1 3.24 156.9 5.04 §2.2 6.72 81.4 5.01 85.0 2.86 2 =
i & & 169.0 5.79 59.8 8.67 84.6 5.98 90.1 2.96 156.0 5,02 §2.0 7.03 81.8 5.47 84.7 2.98 t ® &
#H #* 169.5 5.24 60.8 8.10 86.1 5.36 90.6 3.21 156.8 5.00 53.3 6.82 a16 o 00 8.0 e P =
& *F 169.3 £.39 §9.7 7.94 85.0 5.02 90.6 3.31 156.8 5.47 53.7 8.45 82,0 5.16 85.2 293 2 kA
] b3 169.0 5.63 50.8 8.54 84.6 5.85 90,5 291 156.3 513 §3.2 7.25 82.6 5.36 85.1 2.71 = 35
® H 169.3 5.83 60.3 7.90 85.7 5.50 89.7 3.27 167.8 4.82 53.6 7.04 82.0 513 - 84.9 2.83 ® i3}
fin 14 169.5 5.76 60.2 7.26 85.6 4.70 90.7 3.09 157.8 4.75 54.5 7.03 829 5.02 85.8 2.79 il i
& B 168.7 5.52 89.5 9.09 84.6 5.67 90.2 3.21 156.6 4.86 53.5 8.96 82.8 5.40 85.1 2.51 & B
& 7 169.0 544 50.7 8.44 84.7 5.75 89.9 3.20 156.8 4.94 52.8 6.51 81.5 4.97 84.6 2.77 = 3
L K 168.8 5.97 58.9 8.20 84.6 5.54 90.0 354 157.0 4.86 53.3 6.86 82.3 5.21 85.1 2.7 # *
Fic3 5 168.0 5.96 50.1 8.27 84.5 578 90.1 3.37 156.8 5.18 83.1 7.22 82.8 5.32 84.8 2.75 B B
i E 169.4 5.42 60.3 9.15 84.7 6.06 90.4 3.30 156.6 4.95 52.0 7.05 81,1 5.11 84.8 2.96 % ES
F E 169.1 5.68 59.5 8.21 85.2 5.74 89.9 3.52 157.1 4,52 52.4 6.49 81.6 5.19 84.8 2.94 F =
2 ®" 169.4 5.97 60.4 9.95 86.1 8.71 90.0 315 157.6 4.80 52.0 6.43 81.5 4.80 85.1 2.93 W =y
ki & 168.9 5.90 58.9 8.37 83.9 6.12 89.9 3.36 157.5 5.01 51.6 6.10 80.8 4.64 84.9 2.87 Fiil &=
5 B 169.5 5.72 59.9 8.94 85.1 5.88 90.6 3.35 167.7 5.26 52.9 6.41 81.7 4.53 85.6 2.90 # =)
g il 169.0 5.54 59.5 8.39 84.4 5.38 90.7 323 157.0 498 52.9 7.24 81.6 5.20 85.5 2.84 B W
b= in 169.5 5.52 59.7 8.02 84.4 5.33 90.5 3.06 ’ 157.5 497 52.6 7.05 81.6 4.86 86.3 2.96 b n
=l 3 169.5 5.76 50.4 8.22 84.7 5.43 80.9 3.06 - | 157.5 498 525 6.42 81.9 5.00 85.6 2.67 bt #
i ] 168.4 5.69 59.0 9.16 84.1 6.13 90.3 3.42 156.6 5.33 5§2.0 7.15 80.7 5.19 86,0 2.82 il 0|
= 53 168.9 5.40 50.2 8.02 84.7 5.22 90.7 2.86 157.4 5.04 53.0 6.67 82.4 4.69 85.8 2.78 E 5
I B 169.0 5.80 59.2 8.02 84.5 5.61 90.1 3.18 ] 156.8 4.57 51.5 6.53 81.2 4.73 84.8 2.67 I B
% [ 168.9 5.52 50.0 7.94 84.6 5.45 90.5 3.28 156.2 5.35 51.7 7.21 81.0 5.18 84,9 2.93 3 il
& L] 168.1 5.55 58.3 8.29 83.5 5.86 89.7 3.21 156.7 482 51.8 6.25 80.9 4.79 84.8 2.89 & P
= & 168.7 6.13 50.1 8.75 84.0 5.88 90.5 3.35 156.5 5.20 51,3 6.60 81.3 4.95 85.0 2.94 = &
% B 169.9 5.45 50.9 8.14 84.8 5.80 90.5 3.09 167.4 497 52.8 7.06 81.5 5.16 85.2 2.70 % "
= 0 169.2 5.40 58.8 8.77 83.7 5.76 90.6 3.32 157.6 5.13 51.5 6.22 81.0 510 85.5 2.99 B #
X ® 169.2 5.84 59.2 8.58 83.8 5.93 90.3 2.97 167.7 5.17 52.4 7.13 80.8 5.04 85.4 3.24 * 174
£ H 168.8 5.76 £§9.0 9.05 84.2 5.63 90.0 3.20 167.5 5.02 52.4 6.53 81.1 4.56 86.0 2.83 B I
=" B 169.7 5.47 60.0 8.74 84.5 6.13 90.8 3.00 157.0 5.02 52.0 8.16 81.3 4.60 85.4 3.02 %= B
m & 169.5 6.52 59.9 9.31 84.6 6.21 90.7 3.14 167.2 497 51.6 6.52 80.9 4.99 86.8 2.80 % W
B B 169.0 5.48 58.5 - 815 83.9 5.52 90.6 3.03 156.9 492 52,5 6.53 81.6 493 85.6 2.85 =) g
B B 168.4 4.90 58.5 7.56 84.3 5.41 90.1 3.03 156.4 5.41 52,2 6.71 81.4 4,89 85.0 2.90 B B
] th 168.3 5.82 59.4 9.99 84.1 6.28 90.1 3.42 156.7 468 52.3 B.84 81.7 5.24 86.1 2,83 % m
TN =) 168.0 5.86 58.5 8.05 84.0 5.62 90.0 3.36 156,1 5.34 51.5 6.14 81.2 4.99 84.9 272 % B
It 0 168.2 5.89 57.5 7.18 83.8 5.02 89.6 3.09 156.3 5.06 51.6 7.17 81.0 5.26 85.0 2.73 W n
# B 168.4 5.70 59.1 7.75 83.7 5,20 90.0 2.98 156.7 5.18 52.7 6.57 81.7 5.09 86.3 3.14 1 B
E-3 1| 168.4 5.51 59.0 8.18 84.2 5.73 90.0 3.09 i 156.1 4.87 52.2 6.63 81.8 5.26 84.7 2,90 & Jil
L B 168.5 5.97 58.9 8.16 84.4 5.78 90.4 3.40 165.8 5.45 51.9 6.90 81.4 5.21 86.0 2,70 b4 3
= Ll 167.9 5.93 58,2 8.47 83.7 6.00 90.1 3.17 ] 156.0 474 51.4 5.18 81.3 422 © 851 2.82 - L)
B A 168.5 5.80 57.6 7,30 83.2 5.12 80.7 324 156.6 5.02 51.2 6.39 . B1.0 4.64 84.6 2.91 B v}
1% " 168.1 5.54 §7.0 6.96 83.3 4.86 89.6 2,97 156.5 5.11 51.6 6.41 81.2 5.22 85.0 2,73 # =
£ 71 169.1 5,14 58.1 6.89 84.3 487 90.4 3.01 156.3 494 51.1 6.37 80.6 4.86 84.9 2,95 B i
¥ N 168.4 5.35 58.6 7.38 84.8 5.19 89.8 3.15 : 156.6 494 52.2 6.96 81.4 5.03 84.8 285 3 *
*x &2 168.4 5.37 58.6 7.69 84.4 5.48 89.6 337 165.9 499 51.3 6.21 80,6 4,66 84.6 2.81 x 5
= 5 167.7 5.80 §8.6 8.18 84,5 5.37 89.8 3.42 155,7 6.33 52.0 6.69 81.3 4.94 84.4 322 = %
BE R B 167.3 5.75 58,0 8.26 84.1 5.28 90.1 3.22 155.8 5.21 51.9 6.04 80.9 4.53 84.9 2.72 BE B B
#H @8 166.0 5.28 56.3 7.69 834 5.42 89.5 3.08 154.3 5,02 50.0 6.64 80.0 495 84.4 2.71 # |
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& B 169.7 5.60 60.6 8.56 85.7 6.68 20.6 3.23 157.0 5.02 52.1 6.63 81.7 4.89 85.0 283 &
& & 169.8 5.48 62.1 10.25 86.4 5.44 90.3 3.09 156.8 5.17 52.4 7.63 81.9 5.37 84.9 3.03 EI A I
&5 o 169.6 5.54 61.0 8.78 86.7 5.97 90.4 2.83 156.7 513 52.9 6.37 81.8 4.46 84.7 2.80° # o3
& F 169.9 5.66 61.6 8.33 86.6 5.69 90.8 3.19 156.7 5.12 53.1 6.67 82,5 5,07 84.6 2.91 # F
= 0 169.4 5.48 61.8 8.36 86.2 5.67 90.7 3,01 157.3 5.10 53.9 6.91 83.4 5.14 85,6 2.94 = k3
Kk 53] 170.9 5.05 62.3 7.32 87.4 5.26 90.7 297 157.0 4.86 52.7 5.98 82,2 4.31 84.6 2.80 &) 2]
iy ¥ 170.3 5.56 61.4 7.86 86.7 5.56 91.0 315 158.3 4,96 54.6 6.86 83.0 5.34 85,8 2.60 L 2
& a2 160.6 .54 60.9 7.98 86.2 6.654 90.6 361 156.9 462 53.6 6.94 82.8 517 85.1 2.88 b2t =1
o ® 170.1 5.48 61.3 8.92 85.9 5.76 90.6 292 157.0 4.7 52.6 6.32 82.1 4.86 84.6 2,99 * 1
5 & 169.0 6.64 59.9 8.04 86.0 5.34 90.2 304 156.9 5.17 53.0 6.93 82.1 4.89 84.6 3.28 i K
F23 5 169.8 -~ B85 60.5 8.59 85.9 5.77 90.8 302 187.1 5,36 53.2 6.94 82.9 5.26 85.1 2.96 2 &
L4 x 170.0 5.04 60.2 8.24 85.6 5.52 90.8 313 157.0 5.02 51.6 6.23 81.1 462 85.0 2,92 % x
+ I 1690.3 5.65 60.0 7.90 86.0 5.72 90.1 293 157.3 5.23 52.4 8.07 81.7 5.01 84.9 2.67 F B
® = 170.3 5.72 61.3 9.05 86.1 6.27 90.7 3.20 157.4 498 51.7 5.95 81.8 4,51 85.0 2.84 I =
m & N 169.8 5.53 60.6 7.91 85.5 5.21 90.5 3.08 157.0 4.64 51.1 5.57 80.8 453 84.5 2,77 Boo&= N
o 8 170.5 5.63 61.2 7.53 86.4 4.86 91.2 3.01 167.7 479 53.5 6.41 825 489 85.6 2.80 i e}
=14 b 169.7 5.58 0.9 8.03 85.9 5.37 91.4 3.21 157.6 493 53.1 6.38 82.0 457 85.6 2.92 = o
y = 1] 170.4 5.56 60.9 7.24 85.4 4.89 a1.1 3.13 167.9 5.17 53.8 7.52 82.4 5.30 85.3 2.80 e I
b= # 169.8 5.68 60.2 7.83 85.8 5.33 90.8 2.93 167.6 4.86 53.2 6.67 82.4 5.04 85.7 2.67 Po] F
i £ 169.2 5.57 60.3 8.20 85.0 5.78 90.9 3,16 156.6 5.37 52.2 6.60 81.5 4.88 85.0 2.95 n £
E 43 170.2 5.50 1.1 8.38 86.2 5.51 91.3 296 157.8 5.11 53.6 6.56 82.5 4.75 86.0 2.84 B fid
I = 169.7 5.30 60,3 8.58 85.9 4.80 90.2 3.00 156.9 4.99 52,1 6.56 81.6 4.79 84.8 2.84 i B
ey ] 169.3 5.68 59.8 7.98 85.5 5.34 90.6 3.37 156.4 5,06 52.1 6.16 81.0 4.90 85.0 2.59 “ ]
= 1 168.9 5.59 60.0 10.56 84.9 5.67 90.3 3.18 156.4 4.87 51.1 6.44 81.0 4.70 84.6 2.67 P g
= & 169.5 5.64 50.9 7.96 85.2 5.42 90.6 3.22 156.8 4.88 51.3 5.97 81.0 426 84.9 2.66 = &
% = 1708 5.29 61.5 7.54 86.4 5.26 91.0 3.29 ‘ 157.6 4.70 53.3 6.52 81.9 494 85.2 2.80 % "
= 0 170.8 5.60 I 8.47 85.6 5.42 91.5 3.00 157.7 5.00 52.3 6.83 81.8 5.23 85.5 2.65 b #
X ® 169.9 5.73 60.6 8.29 85.2 5.52 90.8 3.00 157.7 4.99 52.2 6.94 81.5 5.32 85.3 2.79 K 173
i B 170.1 5.26 61.2 9.23 85.9 6.17 90.5 2.97 157.3 532 52.3 6.48 81.5 4.82 85.1 2.73 =3 8
% B 170.0 5.35 60.7 8.64 85.0 6.11 90.8 3.20 157.4 4.94 52.2 6.09 82,0 5.00 85.5 3.05 P-3 B
fn ® 170.3 5.61 61.0 9.18 85.6 6.03 91.0 3.08 157.4 518 52.8 6.64 82.3 4.88 85.8 2.64 M W
B )4 170.3 5.58 60.5 8.65 85.6 5.61 91.5 3.15 i 157.5 497 53.0 8.42 82.0 5.28 85.7 2.64 & i1
B i 169.3 5.38 50.9 7.74 85.8 5.04 90.7 2,93 156.4 497 52.1 6.03 81.9 4.44 84.9 2.78 =) it
] iy 168.8 5.56 50.7 9.18 85.6 6.44 90.0 3.80 156.5 476 51.9 6.52 81.9 4,97 85.0 3.01 it I
i =) 169.1 5.65 60.3 8.20 85.3 7.81 90.4 3.27 166.3 472 52,3 6.84 821 5.14 84.9 2.66 /N =)
e 0 169.2 6.04 50.3 8.41 85.2 6.01 90.3 3.25 156.3 5.03 51.8 6.30 81.7 5.05 84.8 2.76 i [}
& =1 169.7 5.65 61.3 9.43 86.8 6.11 90.7 3.16 166.7 a7 52.1 6.46 82.0 5.01 85.0 2.88 & B
& Il 168.8 5.78 80.8 9.08 85.6 592 90.1 3.18 188.0 473 §1.6 6.28 81.6 5,06 84.6 2.80 & 1
& 1% 1683 5.40 59.5 7.06 85,6 5.06 90.6 2.80 156.2 4.74 52.8 7.51 82.0 5.18 85.2 2.53 & %
5 L) 169.0 5.63 60.6 8.66 85.6 6.11 90.8 3.00 166.4 5.03 51.7 6.55 81.6 4.83 85.1 3.17 = &
B 5] 169.4 5.72 59.5 7.7 85.2 5.30 980.0 3.37 186.5 5.23 50.8 6.54 81.5 4.51 84.4 271 ] i
= = 169.2 5.62 58.9 6.98 85.4 497 90.3 3.09 156.5 5.03 51.7 6.60 81.3 4.85 84.7 2.61 3 B
£ i 169.0 528 59.2 6.69 85.7 468 90.4 33 156.5 - 813 50.9 6.15 80.6 474 85.0 2,67 g i
1 * 169.7 650 60.5 7.63 B6.5 5.50 0.4 3.09 156.6 5.07 51.5 5.91 81.7 - 43 64.6 285 | B FS
* P 168.8 5.76 59.5 7.72 85.4 517 20.0 3.15 1566.6 4.82 51.8 8.11 81.4 4,96 84.8 2.58 K 2
= i 168.3 5.49 58.6 7.05 85.1 4.70 90.0 3.19 185.9 4.68 51.9 6.34 81.3 4.78 84.7 2.80 = i
BE R B 168.2 5.37 59.8 R A:) 85.5 5.32 90.8 5.41 166.8 5.38 52.1 6.20 81.1 501 84.9 266 | B R B
b @ 167.4 5.36 58.1 7.86 84.8 5.54 80.9 3.18 154.0 4,65 49.5 6.60 80.4 5.16 84.2 2.53 h b1}
140 143




